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NOTE TO TEACHERS.

—0——

THE work of this book includes operations with numbers to
100 and is designed for pupils of the second or third school
year. Three distinct purposes have been kept in mind in
preparing the exercises, (1) to furnish illustrations by which
pupils may have a good idea of numbers and of the operations
and relations of numbers, (2) to present by easy grades the
numerical operations so that they may be understood and
performed by the pupils without direct assistance, (3) to
present a large number of exercises for drill, and thus avoid
the necessity of the teacher’s writing out the drill lessons
on the black-board. Black-board lessons are objectionable not
only on account of a waste of the teacher’s time and strength
- but also on account of the injury done to pupils’ eyes in much
reading and copying from the black-board.

It may not be necessary for all the exercises to be given to
insure thoroughness, but in selecting exercises for practice it
would be well to follow the order indicated. Whenever it is
found that a process is not understood or is not readily per-
formed the pupils should be taken back to processes which are
understood and which can be performed readily and then should
be led forward by easy steps until the desired end is reached.

The exercises are not intended to indicate the amount which
should be given for a single lesson. They are intended to be
used simply as a guide in giving out lessons and in conducting
recitations.

For suggestions and directions in using this book, teachers
are referred to the Manual for teachers which is designed to
accompany all books of the series.
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SECTION I

NUMBERS FROM 1 TO 20. (REVIEW.)
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1
6+3=
8+8=
T+6=
9+4=
7+8=

5.
5+17=
8+6=
9+6=
T+9=

10+8=

.. BEXERCISE 2,

2. 3.
11+8=  18-9=
114+6=  17-6=
12+7=  15-9=
13+6=  19-7=
15+4=  20-8=

6. 7.
11+3=  17-8=
124+8=  16-7=
11+9=  20-6=
9+9=  18-5=
9+8=  16-9=

‘'EXERCISE 3.

4.
20—-12=
19-11=
18—-12=
17— 9=
12— 8=

8.
20— 14 =
16 -11=
14— 8=
18-10=
20-11=

1. Eight cards less six cards are — cards.

2. Nine books and seven books are — books.
3. Fifteen sleds less nine sleds are — sleds.
4. Seven oranges and eight oranges are —

oranges.

5. Thirteen nails less ten nails are — nails.
6. Sixteen cents less twelve cents are — cents.
7. Eight clocks and ten clocks are — clocks.

. Twenty nuts less six nuts are — nuts.

8
9. Fourteen ships and six ships are — ships.
0. Twenty stoves less eight stoves are — stoves.



EXERCISE 4. ]

1. In one quart there are — pints.
2. In five quarts there are — pints.
3. In six quarts there are — pints.
4. In ten quarts there are — pints.
5. In four quarts there are — pints.
6. In nine quarts and a pint there are —

pints.
7. In seven quarts and a pint there are —
pints.
8. In one gallon there are — quarts.
9. In five gallons there are — quarts.
10. In three gallons and a quart there are —
quarts.
11. In four gallons and two pints there are

— quarts.
12. At three cents a pint, two pints, or one
quart, of milk will cost — cents.

138. At two cents a pint, two quarts of milk
will cost — cents.

14. At four cents a pint, two quarts of milk
will cost — cents.

15. If one quart of milk costs five cents, one
gallon, or four quarts, will cost — cents.

16. A quart is — times as much as a pint.

17. A gallon is — times as much as a quart.
A pint is — — of a quart.



2x3=
5x3=
2x 8=
3xb5=
6x3=

15+-3=
20+-5=
8-4=
6+-3=
18+-9=

12.
5x?=10
2x?7=14
3x?7=18
4x?7=20
Ix?= 9

4 EXERCISE 5.

1. , 2. 3.
4x5= 4x2= 9Ix 2=
2x9= 3x4= S5x4=
3x2= Tx2= 2x5=
4x4= 8x 2= 4x3=
2x 7= 3x3= 10x 2=

5. 6. 7.
20+-2= 14 +-7= 20 -4 =
18 +-3= 10+-2= 16 -2=
16 -4= 12+ 4= 18- 6=
12 +-6= 16 -8= 15+-5=
10+-5= 18 +2= 12+-3=

9. 10. 11.
9x?=18 8x?7=16 3x?=9
6x?=18 5x?7=20 2x7=18
Tx?7=14 6x?7=12 I3x?=9
4x?=16 5x?=15 2x?2=20
10x?7=20 2x?7=12 3x?=12

138.
13 +2= — and — remainder.
17 +-3= — and — remainder.
19 +6= — and — remainder.
20 +-8= — and — remainder.
19+ 5= — and — remainder.



EXERCISE 6. -6

1. Write the letters that stand for gallon or
gallons; quart or quarts; pint or pints; gill or
gills.

2. Write the letters that stand for year or
years; month or months; week or weeks; day
or days.

3. Write the letters that stand for dozen.

4. Write the letters that stand for foot or

feet ; for inch or inches.
5. 6. 7.
1 gal=—qt. 1yr.=—mo. 1 yd. =—ft.
1qt. =—pt. 1 mo=—wk. 1ft. =—in.
1 pt. =—gi. 1wk=—da. 1 doz.=-—things
8. 9. 10.
3 qt. =—pt. 2 wk=—da. 1 ft. =—in.
2 gal.=—qt. 3 mo.=—wk. 1 ft. =—in.
1 gal.=—pt. lyr.=—mo. } doz.=— things
1 qt. =—gi. 1’ yr. =—mo. 3 doz.=—things
11. 12. 18.

1qt. +1 pt= 3 mo.+2 wk= 1ft. +4 in.=
3qt. +1 pt= 2 wk+3da.= 1ft. +8in.=
2 gal.+1 qt.= 4 mo.+3 wk.= 1 doz.+6 things=
4 gal+1 qt= 1 yr. +4 mo.= 1 doz.+8 things=



6 EXERCISE 1.

1. How many cents will you have to pay
for 5 pencils at 2 cents each?

2. Annie bought 8 cents’ worth of thread,
and gave the store-keeper 10 cents. How much
did she receive back?

3. Alfred had 18 marbles, and put them.
into three piles. How many in each pile?

4. A line is 1 yard and 2 feet long. How
many feet long is it?

5. John is 14 years old, and his sister is 20.
How much older is the sister?

6. One boy caught 8 fishes, and another boy
12. How many fishes did they both catch?

7. There were 15 roses on a bush, and 12
of them were picked off. How many remained ?

8. 1 quart of milk at 3 cents a pint will
cost — cents.

9. 1 pint of milk at 8 cents a quart will
cost — cents.

10. 1 gal. of oil at 4 cts. a quart will cost what?

11. If from 2 quarts of milk there is taken
-1 pint, there will be left — pints.

12. 2 gallons of milk in one pail, and 6
quarts in another, will ‘make — quarts.

13. 9 pints of molasses and 4 quarts will
make — pints in all.



EXERCISE 8. 7

1. : 2.
a. 1 pint = — gills. 20 gills are — pints.
b. 2 pints = — gills. 16 gills are — pints.
c. 3 pints = — gills. 12 gills are — pints.
d. 4 pints = — gills. 8 gills are — pints.
e. 5 pints = — gills. 4 gills are — pints.

3. If you measure 10 pints of milk into a
pail, how many quarts will you have?

4. In 4} quarts of water how many pints?

5. If 6 pints of buttermilk cost six cents,
what will one pint cost?
6. In a pail were 12 gills of berries. How
many pints were there?

7. If a pail holds 1 gallon and 1 quart more,
how many quarts does it hold?

8. How many pints in 20 gills?

9. How many gills in 4 pints?

10. What will 6 pints of milk cost at 2 cents
a pint?

11. If milk costs 1 cent a gill, what is the
cost per quart?

12. If 1 gallon of milk costs 12 cents, what
is the cost of a quart?

13. If 1 gallon of milk costs 16 cents, what
is the cost of a quart and a pint?



8 EXERCISE 9.

1. What three pieces of money, all different,
will make ten cents?

2. Which is more, a dime, or a three-cent
piece and 2 two-cent pieces. ‘

3. Two dimes are — cents.

4. One dime, a five-cent piece, and a penny
are — cents.

5. If John, Mary, Frank, and Bessie each
have 5 cents, how much money have they all?

6. A little boy’s coat cost 10 dollars, and his
rocking-horse } as much. How much did his
horse cost?

7. Nellie has 3 cents, and Jessie has 5 times
as many. How many has Jessie? How many
cents have Nellie and Jessie together?

8. Belle bought 3 oranges at 5 cents each.
How much did she pay for them?

Add, putting in for the last number in each
example that which will make the result 20:

10. 11. 12. 18. 14. 16. 16. 17. 18.
5 3 9 3 9 T T 3 9
3 7 2 7T 6 5 3 6 3
6 2 4 4 3 4 5 T 5

* * * * * * * »* »*

20 20 20 20 20 20 20 20 20

S
Ol # WO



EXERCISE 10. 9

1. How many legs have 3 cows?

2. What will 8 two-cent stamps cost?

3. How many inches long is a stick a foot
and a half long?

4. What is the distance round the outside of
a table that is 3 feet long and 2 feet wide?

5. 12 cents will buy how many two-cent
stamps ?

6. How many quarts in 12 pint cupfuls?

7. If I walk 2 miles a day, how many miles
shall I walk in a week?

8. Eight yoke of oxen are how many oxen?

9. 6 pairs of shoes are how many shoes?

10. If my hens lay 4 eggs a day, how many
days will it take them to lay a dozen eggs?

11. What coins will make 18 cents?

12. If you buy a dozen eggs and use 8 of
them, how many eggs will you have left?

13. How many legs have 3 flies?

14. How many shoes will 2 oxen need?

15. How many pairs of shoes will eight horses
wear ?

16. What will half a dozen eggs cost at 20
cents a dozen?

17. What will a dozen and a half eggs cost
at the rate of a cent apiece?



10 EXERCISE 11.

1. A boy had two dimes, and spent 8 cents.
How many cents had he left?

2. Harry bought a dozen peaches, and gave
away five peaches. How many had he left?

3. What will 2 quarts of milk cost at 20
cents a gallon? 3 quarts?

4. At 4 cents a pint, Wha,t will 2 quarts of
milk cost?

5. How many inches are there in one-half
of a foot? in one-third of a foot?

6. How many inches in one foot and a half?

7. In one pitcher there are 16 gills of milk.
How many pints are there?

8. A mug holds two gills. How many gills
will ten mugs hold, and how many pints would
that be?

9. At 4 cents a pint, what will 12 gills of
milk cost?

10. A little girl picked a gill of berrles every
day for ten days. How many pints did she
have?

11. For 18 cents I can buy — pieces of blot-
ting paper at 2 cents apiece. Tell what you
could get for 20 cents.

12. How many gallons of buttermilk will fill
a twelve-quart pail?



EXERCISE 12. 1

1. How many days are there in 2 weeks?

2. How many school-days are there in 3
weeks ?

3. How many week-days are there in 3 weeks?

4. If a boy earns half a dollar a day, how
much will he earn in 2 days? in a week? in
3 weeks?

5. If there are 20 children in a class, and
one-fourth of them are absent, how many chil-
dren are absent? how many are present?

6. A man bought for his boy during one yvear
2 hats at 1 dollar apiece, 2 pairs of shoes at
2 dollars a pair, 2 jackets at 3 dollars apiece,
and 2 pairs of trousers at 4 dollars a pair.
What did they all cost?

7. If a gallon of milk costs 20 cents, what
will a quart and a pint cost?

8. A little boy picked 4 pints of strawberries
one day, and 6 pints the next. How many
quarts did he pick?

9. How many gill dipperfuls of berries will
it take to fill a two-quart pail?

10. What will 8 apples cost at the rate of
2 apples for three cents?

11. How many marbles can I get for 5 cents,
at the rate of 4 marbles for a cent?



SECTION IL

EXERCISE 1.
t stands for Zen or tens. u stands for unit or units.
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10 10+1= 1042= 104+3= 1044=

1t= 1t+1u= 1t42u= 1t4+8u= 1t+4u=

— — — —
2.[] [ ] [ ] ]

10+6= 10+6= 104+7= 10+8= 104+9=

1t+b6u= 1t+6u= 1t+7u= 1t+4+8u= 1t+9u=

3. Draw squares representing 15; 13; 18; 17.
4. Write in figures one ten and seven units;
one ten and nine units; one ten and one unit.




1.
10+1=11
10+2=7?
10+3=7?
10+4=17?
10+5=7
10+6=7
10+7=7?
10+8=7?
10+9=7?

SR e R 8

4. 18=
13 =

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

EXERCISE 2.

2.

1t+1u=11u

1¢+2u="7
1t+3u="7?
lt+4u="7
1t+5u=7
1t+6u=7?
1t+Tu=7?
1t+8u=7?
1t+9u=7?

5. 19=

6. 16 =

14 = 11 =

4u+3u=Tu

. 8ut+2u=1¢

13

11=1¢+1u

12
13
14
15
16
17
18
19

Sut+4u=12u=1¢t+2u

?
?

Qu+6u=15u=1¢t+5u
Tu+8u= 17 =
6u+8u=17? =

2times b5u=10u=1 ¢
3t1mes4u—12u—1t+2u

4 times 3 u= ?

2 times 8u= 7?
3times 6 u= 7?7
5times3u= 7?7
4 times 4 u= 7

?

-~ N NV Vv

7.
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14

10+10=
2t=

—
8t=

EXERCISE 8.

a

10+10+1= 10+10+4=
2t+1u= 2t+4u=

—_——
3t + 3u=

10+10+8=
2t+8u=

~—
3t + Tu=

8. Draw squares representing 24, 36, 28, 37.

4
a 20+1=21
b. 20+6=?
c. 20+8= 17
d 30+5=7?
e. 80-+6=7

A.
2t+1u=214u
2t+6u=26u
2t+8u="7?
3t+bu="7?
3t+6u=7

6.
21=2¢t+1u
26= ?
28= ?
35= ?
36= ?




Ko &R

e &R

s /R >R

| VS —
41=

2.
40+0=7
40+6=7?
40+8=7?
40+9="7?

73

21=2t+Tu
4=
38= ?
43= ?
4= ?

8.
4ufﬁu=6u
Qut+lu= ?
Tu+2u=?
4u+6u= ?

EXERCISE 4.

15

————
4t + 4u=

3.
4¢t+0u=7
4t+6u=17
4t+8u=7?
4t+9u="7

6.
33=3t+3u
3b= 7
29= ?
43= 7
40= ?

9

| S —
4t + 9u=

4.
40=
46 =
48=
49=

7.
27=
19=
31=
43=
36=

14u+2u=léu=lt+6u

u+1u= ?
21u+2u= ?
24u+6u= ?

?
?

?



16 EXERCISE 5.

v y) ~ v J \ J
bt= 5t + 4u= 6t + 8u=

~ —

6t= 6t + 6u=

3. Draw squares representing 52, 57, 63, 68.

4. 5. 6.
a. 50+2=52 5t+2u=52u 52=5¢t+2u
b. 50+ 7= 7 S5t+Tu= 7? 57= 7
c. 50+9="7? 5t+9u= ? 59= 7
d 60+3=7? 6t+3u= ? 63= ?
e. 60+6=7 6t+6u= ? 66= 7?7



o o8

® &

R R

EXERCISE 6. 17

1.
Tt= - - 7T+ ou=
2. 3 4.
0+2="7 Tt+2u= ? 2= 7
M0+7=7 Tt+Tu= 7 M= 7
. 710+8="7? Tt+8u= ? 8= ?
0+9=7 Tt+9u= 7 9= 7?7
d. 6. 7.
51=5¢t+1u 62=6¢t+2u 42=4¢t+2u
63= ? 5= ? 58= ?
. 48= ? 69= 7 65= ?
56= ? 8= ? 50= 7?7
2= 7 60= ? M= 7
8. 9.
6u+3u=9u 56u+3u=59u=5¢t+9u
Sut4du="7? S3ut+4u= ? = ?
2u+Tu="? 62u+Tu= ? = ?
Su+du="7 65u+bu= ? = 7?7



18 EXERCISE 17.

1.
!
[
[
8t= ’ T 87+ Gu=
2.
9t = ’ ) 9t F Su—
3. Draw squares representing 82, 88, 94, 99.
4 5. 6

a. 80+3=83 8¢+3u=83u 83=8:+3u
b 80+7=?  8t+Tu= ? 8= ?
c. 80+4=?  8t+du= ?  84= ?
d. 80+9=1?  8¢+9u= ?  89= 7
e. 90+0=17  9¢+0u= ?  90= ?



& R ™R

o &R

&Ko &R

1.
90+6="7?
N+4=7
90+8="7?
0+7=7
90+9="7?

4.
84=8¢t+4u
87T= ?
93= ?
95= ?

7.
4u+3u=Tu
Su+6u="?
2u+8u= 17
lu+Tu=7?

EXERCISE 8.

19

9.7

2. 3.
9t+6u="7? 96= ?
9t+4u="7? M= 7
9t+8u="7? 98= 7
9t+Tu="? 97= ?
9t+9u="7? 9= ?

d. 6.
B3=Tt+3u 58=56¢t+8u
8l= ? 60= ?
8= ? 9%6= 7
90= ? 80= ?

8.
84u+3u=87Tu=8t+Tu
8u+3u= ? = ?

8u+8u= ? = 7

Nut+Tu= ¢t = ?



20 EXERCISE 9.

1. Count and write numbers from 20 to 40;

40 to 60; 60 to 80; 80 to 100.

2. Count backwards and write numbers from
20 to 1; from 40 to 20; from 60 to 40; from
80 to 60; from 100 to 80.

3. What do the figures stand for in each of
the following: 16? (16=1 ¢+6w); 38? 457 627
74?7 832 977 707

4. Write in figures twenty-four; thirty-seven;
forty-one ; fifty; seventy-nine; sixty-eight;
ninety-five.

5. Separate into tens and units 38; 84; 69;
52; 78; 29; 40; 63; 80.

6. 7. 8.

20+1= 80+7= 1 dime=10cents.
30+2= 90+8= 1 dime +4 cts.=—cts.
50+4= 20+3= 4 dimes+3 cts.=—cts.
40+3= 40+5= 2 dimes+5 cts.=—cts.
. 60+6= T0+6= 8 dimes+6 cts.=—cts.
/- 50+1= 30+9= 7 dimes+2 cts.=—cts.

o R &R

9. 10. 11. 12. 138.
44+4= 62+5= 34+4= 64+5= 0b4+56=
224+6= 24+3= 23+6= b52+T7= T2+6=
46+3= b1+8= 62+7= 84+5= 9l+6=
734+5= 80+6= 94+3="T3+6= 99+1=



EXERCISE 10.

1. 2.

21

S O ,Z-W:!! | RN l

23 v
-3 -

4 5. 6.

8. 9,




22 ' EXERCISE 11

1. 2. 3. 4
a. 20+410= 60+10= 70+10= 30—20=
b. 40+10= 40+30= 30+50= 60—10=
c. 80+10= 50+20= 60+30= 40—30=
d. 20+20= 20+40= 70+20= 50—20=
e. 30+20= 40+40= 40+50= 40—20=
£ 204+30= 50+30= 70+30= 70—30=
g. 40420= 60+20= 20+80= 80—40=
h. 50+10= 30+40= 60+40— 90—60=
5 6.
———— —_—
20 + 26 = 54 — 20 =
7. 8. 9. 10.
30+16= 42-20=  40+25= 67—40=
40+24= 56-30=  34+20= 85—30=
20+35= 63—30=  56+20= 64+20=
50+27= 47-20=  38+30= 52+30=

40+32=  86-30= 58—-20=  88-20=




S RS R &R

SR NS R &8

11.
12.

1

20+10+4=
30+20+3=
20+40+6=
60+20+5=
40+40+1=
70+20+5=
80+10+9=
30+40+8=
50+30+7=
60+30+2=

7

36—10=

56—20=
86—20=
46—-30=
66—30=
76—20=
86—30=
56—40=
66—40=

EXERCISE 12.

2

24+10=
34+20=
24+30=
44+20=
63+10=
56+20=
48+30=
68+20=
47+30=
58+40=

6.
66—50=
86—50=
96—-30=
86—40=
76—50=
96—-60=
96—40=
86—70=
96—70=

3.
38+30=
42+20=
67+30=
53+40=
28+40=
16+60=
35+50=
49+50=
23+60=
54+30=

7.
44—20=
62—20=
86—30=
94—-30=
37-30=
86—30=
73—60=
89—60=
93—40=

23

4.
10+356=

30+42=
20+64=
40+37=
80+16=
20+63=
50+48=
60+31=
30+58=
40+48=

8.
73—-50=
56—40=
72—-60=
66--30=
74—40=
82-30=
92-60=
49-30=
72—60=

. 44+20—-10+30+10—40—-30+ 50 — 60 =
. 62—-30+20-40+50—-10+20—40+50=
18 +50—-30+20—30—-20+60—40+20=
97-40+20—-30—-40+60—50+ 30 + 40 =



24

8

1.
4+1=

. 14+1=

SN &R

SR R &R

S R >8R

24+1=
44+1=
8+1=
28+1=
45+ 1=
36+1=

.
4+5=
24+ 5=
64+56=
84+56=
11+56=
3l1+5=
41 +5=
91+5=
13+6=

9.
14-1=
34—1=
44—1=
28—1=
69—-1=

EXERCISE 13.

2.
5+2=
156+2=
25+2=
56+2=
856+2=
4+2=
24+2=
34+2=

6.
12+ 6=
32+6=
62+6=
24+ 6=
33+6=
63+6=
93+ 6=
3+6=
11+6=

10.
14-3=
24-3=
64—-3=
84—-3=
17-4=

3.
2+3=
12+3=
22+3=
42+3=
62+3=
82+3=
6+3=
16 +3=

7.
24+ 7=
424 7=
124+ 7=
62+ 7=
11+7=
21+ 7=
81+7=
31+7=
24+ 7=

11

18— 6=

28—-6=
68 —6=
98 —-6=
19-7=

4.
3+4=
23 +4=
43 +4=
83+4=
53 +4=
63 +4=
14 +4=
24+4=

8.

1+8=
11+8=
21+8=
41 +8=
61 +8=
31+8=
71+8=
41 +8=
51+8=

12.
49 - 8=
69 —-8=
8—-6=
83—-2=
4—-3=




EXERCISE 14. 26

1. 2. 3.

19+1= 26+4= 076
4. 5. 6. 7.
a. 9+1=  T+3=  4+6=  248=
b 19+1=  47+83=  34+6=  42+8=
c. 29+1=  6+4=  64+6=  62+8=
d. 89+1=  56+4=  3+7=  52+8=
e. 8+2= T6+4= 43+7=  1+9=
f 284+2=  5+5=  83+7=  61+9=
g. 384+2= 25+5=  93+7=  91+9=
8. 9. 10. 11.
a. 16+4= 10-2= 10-5=  10-8=
b 63+7= 40-2= 50-5=  40—8=
¢c. 35+5= 60—2=  80—5= 100—8=
d. 87+3= 10-3= 10-6=  60—8=
e. 5248= 30-3= 30-6=  10—9=

S 48+2= 70-3= 50—-6= 40—-9=



EXERCISE 16.

1 hour = 60 minutes.

1 h.+30 min.=—min.
1 h.+24 min.=— min.
1 h.+16 min.=— min.

1 h.— 10 min.=—min.
1 h.— 40 min.=—min.
6. :
1 dollar = 100 cents.
$1 — 20 cts. = — cts.
$1 — 40 cts. = — cts.
$1 — 60 cts. = — cts.
$1 — 80 cts. = — cts.

26
1. 2. 3.
‘@ 26+27=30 100 —? =94 83+7= 90
b 44+7=>50 70—?=65 40—7= 36
c. 83+7=90 80 —7="72 T4+2= 80
d. 712+7=80 40—7=33 60—7= 52
e. 43+7=50 90 —-7?=86 93 +7 =100
£ 164+2=20 50—?=46 724+?7= 80
g. 87+7=90 20—?=11 80—7= T4
h. 48+7=50 60—?=>58 60—?= 51
i 12+7=20 30—?=23 74+?7= 80
j. T4+27=80 80—?="74 83+7= 90
4. 5

1 year = 12 months.

1 yr.+ 6 mo.=—mo.
1 yr.+ 8 mo.=-—mo.
1 yr.+ 5 mo.=—mo.
1 yr.+10 mo.=—mo.
1 yr.+ 7 mo.=—mo.

7.
1 dozen = 12 things.
1 doz.+ 6 things=—
1 doz.+ 10 things=—
1 doz.+ 8 things=—
1 doz.+ 3 things=—




EXERCISE 18. 27

1. If your father gives you 28 cents, and you
spend 6 cents, how many cents will you have
left ?

2. If you have 60 cents, how many more
must you have to make a dollar?

3. If you have 66 cents, and you spend half
a dollar, how many cents will you have left?

4. There are 24 hours in a day. If you sleep
10 hours of the day, how many hours will you
be awake?

5. From a flock of 87 sheep 20 were sold.
How many sheep were left? '

6. A boy bought a book for 17 cents, and
some candy for 10 cents. How much money
did he spend?

7. Dora’s mother gave her 50 cents, and she
spent 30 cents. How much money had she
left ? :

8. There were 26 gallons of water in a tub,
and 6 gallons were taken out. How many
were left?

9. A horse went 30 miles one day and 40
miles the next day. How far did he go in
both days?

10. The school-room is 40 ft. long and 20 ft.
wide. What is the difference in the two lengths?



28 EXERCISE 17.

1. In one pasture there were 23 cows, and
in another 7 cows. In both pastures there
were — COWS.

2. One pail of milk held 10 pints, another
pail 16 pints. They both held — pints.

3. In June there are 30 days, and in July
31 days. How many days in both months?

4. John raised 37 chickens and bought 20
more. How many chickens had he then?

5. In a hall there were 88 chairs, and 30
chairs were carried out. How many were left?

6. 20 cents and 40 cents and 30 cents are
— cents. ’

7. If you spend 8 cents for thread and 20
cents for cloth, how much would you spend?

8. 40 baskets of grapes were picked, and
then 9 baskets more. How many in all?

9. A little boy had 60 cents. He spent 20
cents, then 30 cents. He had — cents left.

10. In a barn were 80 chickens. One day
20 were sold; then 20 the next day and 20
the third day. How many chickens were left?

11. How many days are there in the months
of April and May?

12. Half a dollar and 20 cts. are — cts.

138. Quarter of a dollar and 40 cts. are — cts.




EXERCISE 18.

Copy and add:

(1)
30
4

s

(8)
20
30
(1%)
60
20
5
(22)
72
6
(29)
24
6

(36)
21
16

20

(2) (3) 4 () (6) (?)
60 80 70 50 90 40

T8 9 4 1 3
@ @0 (11 (12 13 (14)
40 30 60 20 50 80
30 50 40 0 40 20
(z6) (I7y (18 (19) (20) (21)
30 20 50 10 40 30
40 60 40 70 40 60

3 7 8 6 8 6
(28) (24) (256) (26) (27) (29)
83 74 37 21 82 74
5 5 2 8 6 5
80) 1) (32) (33) (34 (39)
37 84 72 55 64 41

3 6 8 5 6 9
87 38 (39) “0) (“1) (42
34 42 62 74 51 42
21 24 16 13 _§g 57




30

Copy and subtract :

(1)
28
8

—_—

(8)
60
20

(15)
26
20

(22)
46
3

(29)
40
6

(86)
46
13

EXERCISE 19.

(2) (8) (4) (6) (6) (7)
67 4 39 8 91 58

T 4 9 6 1 8
9 10 (dn 12 13 (14
50 70 80 90 100 60
30 30 50 40 40 30
16) N (18 (19 (200 (21)
42 58 63 8 18 96
30 40 40 60 50 60
(28) (24 (26) (26) (27) (29)
54 78 8 713 51 69
2 6 7 3 6 8
(80) (81) (82) (838) (84 (39)
60 50 80 70 30 90
8 4 2 9 1 5
87 (38 (89 “0) 1) (42
59 72 89 18 66 54
14 21 21 54 23 32




EXERCISE 20.

31

1 @& 3 (4) ) (6) (?)
32 41 53 48 62 37 41
+20 +6 +30 +10 + 6 +40 9
® @ qo dn 12 138 (14
0 36 717 58 49 68 93
-8 -6 -5 -6 -9 -2 -7
(16) (16) (I7) (18 (19) (20) (21)
4T 38 58 46 89 15 96
—22 —31 —21 -25 -62 —24 -T2
(22) (23) (24) (26) (26) (27) (29)
23 42 3 21 75 81 66
+23 +27 +41 +42 +20 +16 +23
(29) (80) (1) (82) (83) (34) (39)
90 27 64 83 24 65 82
—70 +11 -30 +14 +32 -2 -70
86) B7) (38 (89) (0O “I) (2
42 84 75 23 30 8 99
+27 —60 —-50 +46 +46 -20 —170




SECTION IIL

EXERCISE 1.

] | a ]
N
-—ﬁ
|
L
1. 9+2= 19+2=  29+2=  39+2=
2. 9 19 29 39
+2 +2 +2 +2
H== =3 ==
3 11-2= 21-2= 31-2=  41-2=
4 11 21 31 41
-2 -2 -2 -2
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EXERCISE 2. 83

1. 2. 3. 4
9+2=  28+42= 11-2= 71-2=
19+2=  37+2- 21-2= 86-2=
29+2=  42+42= 31-2= 70-2=
39+2=  69+2= 41-2= 51-2=
69+2=  73+2= 61-2=  46-—2=
89+2=  85+2= 81-2= 69-2=
9+2=  97+2= 51-2= T1-2=
59+2=  68+2= 71-2= 83-2=
49+2=  39+2= 91-2= 91-2=
89+2=  49+2= 41-2=  70-2=

Add by 2’s from 20 to 100.
Subtract by 2’s from 100 to 20.

Add by 2’s from 19 to 99.

Subtract by 2’s from 99 to 19.
50—-2+1+24+2+1+2-14+2-1-2=

L 2T4+242-14+2+4+14+24+2+24+2-2=
. 214+84+24+4+4+2-2-8-2-3-5—-2+2=
. M1-2-3-2-3-2—-4+3+1+2-6+4=

19+10+2+8+20+2-2+10+2—-40=
81-20-2+10+2-30—-2+20+2+20—-2=
59+30+2-50—-2+40+2—-20—-2—-40+2=
29+2+20-2—-30+2+560—-2-9-2-7-2=
31-2+40+2-30—-2-8-2+20+2-30—-2=

. 494+24+9—-1424+30—-2-50+2+6+40+2+2=



34 EXERCISE 3.

11 ]

n 5
1. 843= 18+3= 9+3= 1943=
2. 8 18 28 9 19 29
£8 43 43 43 43 43
3. 38 48 58 39 49 59
+3 43 43 43 43 43

}_

]

4. 11-3= 21-3= 22 3=

5,11 21 31 12 22 32
-3 -3 =8 -3 -8 =3
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EXERCISE 4. 35

1. 2. 3. 4.
8+3= 9+3= 8+3= 12-3=
18+3= 19+3= 39+3= 22—-3=
28+3= 39+3= 64+3= 42 —-3=
48+ 3= 59+3= 1+3= 32—-3=
68+3= 89+3= 49+3= 62—-3=
38+3= 49+ 3= 28 +3= 2-3=
78+3= 719+3= 68+3= 52—-3=
58 +3= 29+3= 5+3= 82—-3=
88+3= 69+3= 59+3= 32—-3=
68+ 3= 89+3= 78+3= 92-3=
. 6. 7. 8.
11-3= 42—-3= 64—-3= 49+ 3=
31-3= 1-3= 31-3= 38+3=
21-3= 62—-3= 88+ 3= 1-3=
61—-3= 8l1—-3= 1-2= 59+ 3=
8l—-3= 41 -3= 62—-3= 82—-3=
1-3= 32—-3= 8l1—-2= 6l —-2=
41 -3= 61-3= 42—-3= 49+ 3=
61 —-3= 52—-3= 29+2= 18+3=
51 —-3= 82—-3= 89+3= 51 -3=
91-3= 92-3= 19+2= 62—-3=

9. Add by 3’s from 3 to 99.
10. Subtract by 3’s from 99 to 3.
11. Add by 3’s from 1 to 100.
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1.

T+4=
17+4=
271+4=
47+4=
67+4=
57+4=
87+4=
3T+4=
M+4=

S.
8+4=
18+4=
28+4=
48 +4=
38+4=
8+4=
58 +4=

88+4=
68+4=

9.
49+4=
52—4=
38+4=
1-3=

EXERCISE 6.

2.
9+4=
19+4=
29+4=
59 +4=
719+4=
39+4=
89+4=
49+4=
69+4=

6.
37T+4=
19+4=
48 +4=
39+4=
67+4=
89+4=
48+ 4=

49+ 4=
38+4=

10.
28+3=
69+4=
39+3=
12—-4=

3.
21+4=
39+4=
67 +4=
87+4=
49+4=
M+4=
29+4=
89 +4=

C 5T +4=

7

30— 4=

60—4=
10—-4=
21-4=
1-4=
61 —4=
3l1—4=
27—4=
63—4=

11. -

719—-4=
82—-3=
61-3=
29+4=




EXERCISE 6.

Copy and add:

(2)

(3)

(4)
47

4

(11)
49
4

(18)
61
4

(29)
53

4

(32)
62

68 38
4 4 4
(8) 9) (10)
39 69 79
I .
Copy and subtract:
(16) (16) (17)
11 31 51
R .
(22) (28) (24
13 33 63
4 4 4
(29) (380) (31)
12 43 32
4 4 4

4

(9)
27

4

(12)
56
4

(19)
41

(26)
83
-4
(83)
52
4

(6)
87
4

(13)
36
4

(20)
91

(27)
93
4

(34)
92

4

36. Add by 4’s from 4 to 100.
37. Add by 4’s from 1 to 97.
38. Add by 4's from 2 to 98.

39. Subtract by 4’s from 99 to 3.
40. Subtract by 4’s from 98 to 2.

87

(21)
81

(28)
73

(89)
72



1.
6+56=
16+5=
56 +56=
36+5=
6+5=
36+5=
66+5=
46+ 5=
86+6=
26+5=

.
9+5=
89+5=
9+565=
19+6=
49+ 5=
69+ 5=
39+5=
59+5=
29+ 5=

SR N RS >R

S .
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EXERCISE 1.

2.
T+5=
21+ 6=
37T+56=
67+5=
5T+56=
47+ 5=
87T+565=
1T+56=
17+ 6=
37T+56=

6.
MN-5=
8l—-5=
41 -5=
61—-5=
31-5=
11-5=
21-5=
51-56=
91-5=

3

8+5=

28+56=
48+5=
68 +5=
88+5=
18+5=
38+5=
48+ 5=
58 +5=
8+56=

7.
42—-5=

1 62—-56=

12—-56=
32-56=
92—-5=
12-5=
52—-5=
22—-5=
82—-5=

4.
48+5=
68+6=
17+56=
36 +5=
47+5=
16 +5=
58+ 5=
38+5=
27+56=
67+56=

8.
43—-5=
53—-6=
13-56=
93-5=
23—-5=
84—-5=
4—5=
34—56=
24-5=

9. Add 3 to 23, 26, 38, 49, 317, 59, 68, 73, 88.
70. Add 4 to 27, 38, 56, 69, 76, 88, 69, 57, 39.
11. Add 5t0 9, 49, 7, 37, 6, 86, 8, 68, 88.

12. Add 5 to 28, 46, 37, 88, 64, 79, 67, 49, T6.




EXERCISE 8. 39

Add by 5’s from 1 to 96.
Add by 5’s from 2 to 97.
Add by 5's from 4 to 99.
Subtract by 5’s from 100 to 5.
Subtract by 5’s from 96 to 1.
Subtract by 5’s from 97 to 2.

SN

7. 8. 9. 10.
3l1-56= 24+5= 44—5= 24-5=

a.

b. 26+5= 37T—4= 39-5= 40-5=
c. 3T+5= 28—4= 44-3= 100-5=
d. 42-5= 39+5= 62—4= 90-5=
e. 36—5= 28+5= 18-3= 85-5=
f 16+5= 39-3= 21—4= 45-5=
g-24+5= 46—-3= 32-5= 32—-4=

11. Add upward, downward, to the right, and
to the left:

|
S

[Rw e R &R

O DD H T W N
U= DO WO S
S O I T SEEUCR
= CU = H GO e
O W H= O DD Ut O s~
He 00 DO W= TU O QS
e H= = 0O W H = S
B DO Ct = 0 Cr o O
RS R RSN R
O D T DD U= MR
OV b= QO H W SO W=
DO H U H= 1 0 ®
DN OU W b= O = DN
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1.
5+6=
15+6=
50+ 6=
35+6=
45+ 6=
26+6=
65+ 6=
5+6=
85+ 6=

.
7T+6=
2T+6=
57T+6=
47+ 6=
3T+6=
67+6=
17+ 6=
87+6=
MT+6=

. 89—4—
10.
11.
12.
138.

91—-4-

EXERCISE 9.

2.
6+6=
46+ 6=
56 + 6 =
86 + 6 =
76+ 6=
16 + 6=
26+ 6=
66 +6 =
36+ 6=

6.
8+6=
19+6=
29+ 6=
18+ 6=
38+ 6=
49+ 6=
58 + 6 =

OOl

—Ou = WO




EXERCISE 10. 41

1. 2. 3. 4.
a. 4+7=  5+7= 82-7T= 21-7=
b 14+7=  25+7= 42-7= 31-T=
c. 34+7=  35+7= 32-T= 5l-T=
d 24+7= 65+7= 92—-7T= 61-7=
e. 44+7= 85+7= 62-7= 8l—-T=
foT4+T=  454+7= 52-T= 91-T=
g. 64+7T=  35+7= 72-T= 41+7=
h. 54+7=  T54+T= 22-7= 11-T=
i 84+T=  B55+7= 12-7= 11-7=

5. 6. 7. 8.
a. 6+7= 1T+7=  84+7= 29+47=
b 26+7=  3T+7= 18+7= 39+7=
c. 36+7=  4T+7=  38+T= - 49+7=
d 16+7=  21+7T=  68+7=  89+7=
e. 86+7=  57+7= 58+7=  39+7=
£ T6+T=  6T+7= 88+7T= 59+7=
g 46+7=" 8T+T= 28+7= 69+7=
h. 66+T=  TT+T=  T8+7=  79+7=

9. 284+5-74+3+2—-6+4+7-3+7—-3+6+7—6=
10. 31-6+1-7+4—-6+3—-7+6—-2+5—-T7+6—4=
11. 56+7—4+2—-6+7—3+5-6+7—6+2—-3+7=
12. 63—6+4—-3+4—7+5—-2+3—-4—-6-T7+6-2=
18. 60—4+5—3+7—6+4—5+7—6+5—-2—-6—-T=
14. 51+3+7—-4+6—-5+3—-7T+2+6—5+4—T+6=
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EXERCISE 11.

1. 2. 3. 4
7+8= 8+8= 9+8= 15+8=
27+8= 18 +8= 39+8= 27+8=
37+8= 48+ 8= 49+8= 39+8=
57+8= 38+8= 59+8= 46 +8=
67+8= 28+8= 69+8= 55+8=
17+8= 58 +8= 719+8= 38+8=
87+8= 88+ 8= 29+8= 54+ 8=
47+ 8= 78+8= 89+8= 23+8=
5T+8= 68+8= 19+8= 78+8=
5. 6. 7. 8.

35—-8= 66 —8= 37—-8= 37—-8=
50 —8= 56—8= 47 —-8= 46—-8=
. 45— 8= 86--8= 57—-8= 82—-8=
25—-8= 26—-8= 97 -8= 93 -8=
75—-8= 6—-8= 87T—-8= 24—-8=
86—8= 46 — 8= 67—-8= 36 —-8=
65—8= 36 —8= 17—-8= 45—8=
15-8= 96 —-8= 27T—-8= 86 —8=
95—-8= 16 —8= 7-8= 54 —8=
20—8= 36—-8= 37—-8= 717—-8=

9. Count by 8’s from 0 to 80.
10. Count by 8's from 80 to O.
11. Count by 8’s from 2 to 82.
12. Count by 8’s from 82 to 2.




EXERCISE 12. 43

1. ' 2. 3. 4.
a. 3+8=" 4+4+8= 5+8= 6+8=
b. 13+8= 24+ 8= 35+8= 86 +8=
c. 234+8= 34+8= 45+ 8= 16 +8=
d. 33+8= 64+8= 85+8= 26+ 8=
e. 43+8= 84+8= 75+ 8= 36+8=
f. 53+8= 14+ 8= 65+8= 46+ 8=
g. 63+8= 54+ 8= 25+ 8= 56+ 8=

5. 6. 7. 8.
a. 91—8= 72—-8= 83—-8= 54 —8=
b. 51—-8= 82 -8= 43 —-8= 64— 8=
c. 41—-8= 22 - 8= 63—8= 74 —8=
d. 11-8= 32-8= 33—-8= 84 —8=
e. T1-8= 62 —-8= 23 —-8= 94 - 8=
/o 21-8= 92 - 8= 73 —-8= 24 — 8=
g. 31—-8= 12—-8= 93 —-8= 34 —-8=
h. 81—-8= 52 —-8= 13—-8= 44 —8=

9. 10. 11. 12.
a. 61—-8= 30—-8= 12+8= 13+8=
b. 12—-8= 24 — 8= 36+8= 25+ 8=
c. 54—8= 31-8= 424+ 8= 36+8=
d. 33—8= 52 -8= 56 +8= 45 +8=
e. 92—8= 33-8= 24+ 8= 33 +8=
f. 80—8= 22 -8= 31+8= 20 + 8=
g. 43—8= 64—8= 50+8= 14+ 8=
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EXERCISE 13.

1. 2.
2+4+9= 3+9=
22+9= 33+9=
52+9= 43+9=
62+9= 73+9=
12+9= 53+9=
32+9= 83+9=
42+9= 23+9=
72+9= 63+9=
82+9= 13+9=
5. 6.
6+9= 1+9=
36+9= 47+9=
46+9= 87+9=
86+9= 37+9=
26+9= 27+9=
56+9= 67+9=
16+9= 174+9=
76+9= 57+9="
66+9= 17+9=
9. Add by 9’s
10. Add by 9’s
11. Add by 9’s
12. Add by 9’s

13. Add by 9's

3.
4+9=
74+9=
64-+9=
34-+9=

54+9=

24+9=
84+9=
94+9=
14+9=

7.

8+9=
38+9=
58+9=
48+9=
68+9=
28+9=
18+9=
18+9=
88+9=

from 9 to
from 8 to
from 7 to
from 6 to
from 5 to

99.
98.
97.
96.
95.

5+9=
26+9=
356+9=
856+9=
45+9=
75+9=
55+9=
65+9=
15+9=

9+9=
19+9=
39+9=
59+9=
79+9=
29+9=
49+9=
69+9=
89+9=
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1.
11-9=
31-9=
51-9=
61-9=
21-9=
81-9=
4]1-9=

d.
15—9=
35—9=
55—9=
45—9=
256—-9=
86—9=
95—9=

the left:

e R >R

EXERCISE 14.

2.
12—-9=
82—9=
52—-9=
62—9=
42—-9=
22—-9=
72—-9=

6.
16—-9=
26—9=
86—9=
96—9=
36—9=
46—9=
56—9=

3.
13-9=
73-9=
43—-9=
53—9=
63—8=
23—9=
83—9=

7.
17-9=
27-9=
87—9=
57—9=
67—-9=
717—9=
97—-9=

45

4.
14—-9=
24—-9=
34—9=
64—9=
74—-9=
84—9=
54—9=

8.
18—9=
38—9=
58—9=
68—9=
48—9=
78—9=
98—-9=

9. Add upward, downward, to the right, to

_— —— —— — — —— e—— e— — — — ey



EXERCISE 15.

Add by columns and by lines:

a. b.

c. d.

e. f- g h
. 84+3+56+24+94+6+14+74+4+7+44+84+3=
. 3+9+2+4+3+8+8+6+9+1+7+T7+5=
. 5+8+4+1+9+7+6+9+2+5+6+8+3=

.

J- kL m.

. 7+4+6+5+2+6+6+9+3+4+8+3+7=
. 8+5+2+6+9+3+6+4+8+7+7+1+9=

n

0

p

q- 4+9+3+6+4+1+8+5+5+3+7+94+2=
r

s

4

. 6+1+4+9+5+8+7+3+6+6+2+7+5=

Subtract, giving remainders only :

100—-6
100-7
100-8
100-9
100-5

-3

-1
-5
-3

-1

8
-8
=2
6
8

4 —
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3+3+3+3=

SECTION 1V.

EXERCISE 1.

8+3+3+3+3+3+3+3

1. How many times 3 is 3+3? 3+3+3?
2. Express in the form of multiplication and
give answers to the following problems :

24+2+2+2=

; IxX8=

3+3+3+3+3 +3=

3+3+3+3+3+3+3+3=

3. Make the table of 3’s in multiplication
beginning with 3 x1 to 3 x 10.

4.
1 two =
2 twos=
3 twos=
4 twos=
5 twos=
6 twos=
7 twos=
8 twos=
9 twos=
10 twos=

.

1 three =

2 threes=
3 threes=
4 threes=
5 threes=
6 threes=
7 threes=
8 threes=
9 threes=
10 threes=

6.
2x 4=
2x 2=
2x 5=
2x 3=
2x 8=
2x 1=
2x 1=
2x 6=
2x 9=

2x10=



48 EXERCISE 2.

z.
1 } f 24.
§ of 12 $o
. yof 12 b ot 2a.
§0f12.{ 3 of 12. 3of 24 3o
}g, of 24.

3. Show by squares } of 15; 2 of 15; 1 of 18;
of 18.
4. Show by squares ] of 21; 2 of 21; ] of 30;
of 30.
5. What is 1 of 18?7 of 27?7 of 24? of 217
6. What is 2 of 18? of 21? of 24? of 27?

wWIN

wWIN

12345678

7. 3 squares in 24 squares — times.

8. 3 squares in 27 squares — times.

9. 3 squares in 18 squares — times.

10. 3 squares in 28 squares — times and
— remainder.

11. 3 squares in 30 squares — times.

12. 3 squares in 21 squares — times.

18. 3 squares in 23 squares — times and .

— remainder.



EXERCISE 8. 49

4+4+4+4+4+4+4+4+41+4=4x10

1. How many times 4 is 4+4+4?7?
2. Express in the form of multiplication and
give answers to the following problems:

44+4+4+4= 44+4+4+4+4+4=
4+4+4+4+4+4+4+4=
3. 4x4= 4x6= 4x8=

4. Add 4 together 3 times; 5 times; 7 times;
9 times; 10 times.

5. 6. 7. 8.
1 four = 4x 1= 4x 6= 4x T=
2 fours = 4x 3= 4x 8= 4x 8=
3 fours = 4x 5= 4x 7= 4x 6=
4 fours= 4x 6= 4x 3= 4x 9=
5 fours= 4x 8= 4x b= 4x 4=
6 fours= 4x10= 4x 9= 4x T=
7 fours= 4x 7= 4x10= 4x 9=
8 fours = 4x 9= 4x 8= 4x 8=
9 fours= 4x 6= 4x T= 4x10=

10 fours= 4x T= 4x 6= 4x 6=
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EXERCISE 4.

e o o o o =};of20dots.
e o o o o}=§-‘_0f 20 dots.

1. 2 of 20 dots are — dots.

Show by squares or dots:

2.1 0f 8; 20f 8; 2
3. ¢ of 30; 2 of 30;
4. 3 of 24; L of 24,
b. 2 of 18; 3 of 18;

of 8.

of 30;
of 24;
of 18;

Op pIW ONW

of 30.
of 24.
of 18.

oN O Okh

Show by squares or dots that —

6. 2 of a number
7. 2 of a number

1
2

1
3

of that
of that

1234567

8. 4 squares
9. 4 squares
10. 4 squares
11. 4 squares
12. 4 squares
13. 4 squares

in
in
in
in
in
in

28
24
20
16

8

squares
squares
squares
squares
squares
squares

number.
number.

— times.
— times.
— times.
— times.
3 times.
— times.




EXERCISE 5. 561

1. 2. 3. 4.

4+4= 24+4= 12+ 4= 40+-4=
8+4= 28 +4 = 20+4= 24+4=
12 4= 32 4= 16+4= 32+ 4=
16 +4= 36 4= 32+ 4= 12+ 4=
20+ 4= 40+-4= 8+ 4= 36 = 4=

5. Add by 4’s from 4 to 40.

6. Multiply each of the following numbers
by 4: 2; 7; 56; 6; 4; 8; 3; 10; 9.

7. Multiply the same numbers by 2; by 3.

8. What is 1 of 327 of 16? of 24? of 407

1
4
9. What is 3 of 127 of 16?7 of 207 of 247
70. What is 2 of 28?7 of 32? of 367 of 407
11. 12. 13. 14.
20+-4= 13+4= 18+4= 30+-4=
28+4= 17+4= 3l-4= 27T +4=
36-+4= 21+4= 39+4= 35+4=
32+4= 26 +4= 41 +4= 3T +4=
40+-4= 30+-4= 33+4= 39+4=
15. 16. 17.
2of 30+4= Sof 36+4= 1of 18+4=
1of 40-3= 20f 40—-3= 2of 2T+3=
Sof 12+4= 20f 30—4= 20of 28—3=
2o0f 24-3= 30f32+3= 20f36+3=

3 of 20 +4= 2of 28—4= 20f32—-4=



62 EXERCISE 6.

1. Place 12 dots in 3 equal rows. How many
are there in 1 row? in 2 rows? 2 of 127

2. Place 24 dots in 4 equal rows. How many
are there in 3 rows? £ of 24?7
of 8; 16; 20; 18; 16.
of 12; 18; 24; 30; 21.
of 8; 16; 20; 24; 32; 40.
of 6; 12; 18; 24; 30; 36.
of 8; 16; 20; 24; 32; 40.
. My hens lay 4 eggs a day In how many
days will they lay 2 dozen? 3 dozen?

9. I have 4 rows of trees, 5 in each row, and
2 trees besides. How many trees have I in all?

10. There are 12 months in a year. How
many months in 4 yrs.? in 3 yrs.? in 2} yrs.?

11. How many months in } of a year? in
2 of a year? in 2 of a year?

12. How many months are there in 2 yrs.
7 mo.? '

13. How many inches in 3 ft.? in 4 ft.?

14. There are 3 feet in a yard. How many
ft. in 4 yds.? in 6 yards?

15. How many feet in 8 yds. 2 ft ?

16. There are 4 gills in a pint. How many
gills in a quart? in a gallon?

17. In 8 pints there are — quarts.

S N S e
DI QIR Bl Qe NI




EXERCISE 7. 63

1. If John can walk 6 miles in 2 hours, he
can walk — miles in 1 hour. In 4 hours he
can walk — miles.

2. At the rate of 2 for 3 cents, what will
half a dozen pencils cost?

3. If T can buy 8 marbles for a cent, I can
buy — marbles for 4 cents; and for 16 marbles
I should have to pay — cents.

4. From the 3d to the 31st of July there are
— days or — weeks.

5. From the 4th to the 22d of June how
many weeks and days?

6. Fannie is 12 years old; her brother is
19 years. How much older is he?

7. It 1T paid 2 cents for 1 marble, for 12
marbles I should have to pay — cents.

8. At the rate of 2 for a cent, what will one
dozen pencils cost?

9. Our school-room is 30 feet long. How
many yards long is it?

10. The table is 3 yards and 2 feet long
How many feet is it?

11. If you walked 24 feet, how many yards
would you walk ?

12. Arthur had 35 cents, and he spent all
but 15. How many cents did he spend?



54 EXERCISE 8.

1. A little girl picked 15 cherries, and ate
2 of them. How many did she eat?

2. If you had 18 cents, and spent 2 of them
for candy, how much would you spend?

3. In one box there are 2 of a dozen eggs,
in another box 2 of a dozen. How many more
eggs in one box than the other?

4. 2 of 21 children were playing out in the
yard, and 12 more children came. How many
children in all?

5. If you earned 3 cents per day for a week,
how many cents would you earn?

6. In one barn were 24 tons of hay, in another
barn 36 tons. There were — tons more in the
second barn.

7. If 32 marbles were divided equally among
4 boys, each one would receive — marbles.

8. One box of soap weighed 24 pounds, and
another box weighed . as much. How much
did the small box weigh?

9. At 4 cents apiece, how many pencils can
you buy for a dime and a nickel, and how
many cents will you have left?

10. Mary had a dozen paper dolls, and her
mother made her ] of a dozen more. She gave
away 6 of them. How many had she left?




EXERCISE 9. 66

1. Show by squares er lines: 3 times 5; 4
times 5; 6 times 5; 8 times 5; 10 times 5.
2. Add by 5’s from 5 to 50.

3. 4. 5. 6.
a. 1 five = 5x 1= 5x 4= 5x 6=
b. 2 fives= 5x 3= 5x 3= . b5x 4=
c. 3 fives= 5x 4= 5x 6= 5x 2=
d. 4 fives= 5x 6= 5x 8= 5x T=
e. b fives= 5x T=" b5x 2= 5x 8=
Jo 6fives= 5x 8= 5Hx10= 5x 1=
g- Tfives= &5x 9= &§x 9= 5x10=
h. 8 fives= 5x10= 5x 5= 5x b=
. 9 fives= 5x 2= 5x T= 5x 8=
J- 10fives= 5x 5= 56x 1= &5x 9=

7. 8 9.
a. 5x 3+4= 2x 9—4= 2x 7T+3=
b. 2x10+3= 5x 3—-2= 2x 8—4=
c. 3x 4+5= 2x 7T—56= 5x 5—4=
d. 2x 7T+3= 3x 9-2= 3x 9-2=
e. 2x 9+4= 4x 8—-5= 5x 8+4=
J 5x 3+2= 3x 6—-4= 3x10+6=
g9 4x 4+4+3= 5x10—-2= 2x10—-5=
h. 5x 44+2= 4x10-5= 3x 6—4=
7. 3x T+4= 3x10-3= 5x 9+4=
J. 4x 8+3= 4x 9-3= 4x 7—3=
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EXERCISE 10.

Show by drawing how many times—

© 0D Zh N

Ot Ot Ot Ov O Ot O

10.
11.
12.
18.

14.

5 squares are contained in 10 squares.
5 lines are contained in 20 lines.

5 circles are contained in 30 circles.

. 5 apples are contained in 15 apples.

.5 ﬁags are contained in 25 flags.

is
18
is
18
is
is
is

contained
contained
contained
contained
contained
contained
contained

in 5 — time.

in 10 — times.
in 15 — times.
in 20 — times.
in 25 — times.
in 30 — times.
in 35 — times.

ap

5+5=1
10+-5=?
156+5=?
20-=-5=?
25 +-5=?
30+-5=7
35+-56=1

Show by drawing, ! of 40; % of 50; L of 45.
Show by drawing, 2 of 15; 2 of 25; 2 of 35.

16.
40+-5=
35+-5=
25-+-5=
30+-5=
20+-5=
15+5=
50+-5=
45+-5=
10+-56=

16.
19+-5=
26+ 5=
17+5=
36+-5=
42 +5=
37+6=
48 +5=
16 +-5=
21+5=

17.
3 of 30=
2 of 30=
3 of 36=
2 of 36=
3of 21=
2 of 21=
3 of 24=
Z2of 24=
2 of 40=

18.
3 of 24=
2 of 24=
3 of 40=
2 of 40=
3 of 28=
2 of 28=
3 of 32=
2 of 32=
2 of 35=




EXERCISE 11. 67

1. How many lead pencils at 2 cents each
can I buy for 12 cents?

Cemts. OO0 OO OO OO OO OO

S I e e B B

I can buy — lead pencils for 12 cents at
2 cents apiece.

2. How many books at 5 cents apiece can I
buy for 23 cents, and how many cents shall
I have left?

Cents, 60000 00000 0OO0OO0OO0OO0O OOOOO OOO
e e N

I can buy — five-cent books for 23 cents,
and I shall have — cents left.

Show by drawing the following:

3. How many apples at 2 cents each can be
bought for 24 cents?

4. How many oranges at 3 cents apiece can
you buy for 30 cents?

5. How many nuts at 1 cent each can you
buy for 40 cents?

6. How many hats at 4 dollars each can I
buy for 22 dollars, and how many dollars shall
I have left?



68 EXERCISE 12.

1. Show by squares or marks how many 2
sixes are; 3 sixes; 4 sixes; 5 sixes; 6 sixes;
7 gixes; 8 sixes; 9 sixes; 10 sixes.

2. Add by sixes from 6 to 60.

3. Make the table of sixes from 6x1;to 6x10.

4. Multiply 6 by 2; by 4; by 3; by 5; by 7;
by 6; by 8; by 9; by 10.

5. 6. 7. 8.
a. 1lsix = 2x 8= 2x10= 2x7=20
h. 2sixes= 3x 9= 6x 9= 2x?=16
c. 3sixes= 4x 6= b5x T= 2x?=12
d. 4sixes= 2x 8= 3x 8= 2x?=2A4
e. dgixes= 3x T= 4x10= 2x7=18
f. 6Bsixes= 4x 8= 6x10= 3x?7=30
g. Tsixes= 33X 6= bx 4= 3x?=15
h. 8sixes= 6x 6= 2x12= 3x?=18
. 9sixes= Hx10= 3x 4= 3x?=27

J- 10sixes= 4x 9= 6x 8= 3Ix?=21

9. What will 3 books cost at 6 cents apiece?

10. What will 10 slates cost at 6 cents apiece?

11. What will 8 oranges cost at 6 cents
apiece ?

12. What will 4 spools of thread cost at 6
cents apiece?

13. What will 5 tops cost at 6 cents apiece?



EXERCISE 13. 69

Show by drawing how many times—

1. 6 squares are contained in 12 squares.

2. 6 squares are contained in 24 squares.

3. 6 dots are contained in 18 dots.

4. 6 marks are contained in 36 marks.

4. 6 marks are contained in 30 marks.

6. 6 books are contained in 42 books,

7. 6 pencils are contained in 54 pencils.

8. 6 tops are contained in 60 tops.

9. Show by drawing: [ of 24; [ of 48; 2 of
30; 1 of 30; 2 of 36; 2 of 42; 1 of 42.

10. 6 is contained in 8 — time and — over.

11. 6 is contained in 15 — times and — over.

12. 6 is contained in 20 — times and — over.

13. 6 is contained in 32 — times and — over.

14. 15. 16.
a. 6+6= 1 of 60= 60+ 6+4=
b 12+6= 1 of 30= 24+3+2=
c. 24+6= 1 of 40= 27+3+5=
d. 18+6= 3 of 20= 36+6+4=
e. 30+6= 1 0f 30 = 30-5+17=
£ 60+6= 5 of 12= 40+5+3=
g. 36+6= 2 of 18= 36+4+7=
h. 48+6= S of 24= 48+6+6=
i 42+6= 5 of 30 = 42-6+5=



60 : EXERCISE 14.

1. How much will 6 bottles of ink cost at
5 cents a bottle?

Cents. OOO OOO 000 OOO OOO OOO

s R R

6 bottles of ink at 5 cents a bottle will cost
— cents.

In the same way do the following:

2. 9 pounds of sugar at 5 cents a pound will
cost — cents.

3. 9 pencils at 2 cents each will cost — cents.

4. 10 picture-books at 6 cents apiece will
cost — cents.

5. T quarts of milk at 5 cents each will cost
— cents.

6. 8 two-cent postage stamps will cost — cents.

7. 6 five-cent postage stamps will cost — cents.

8. 6 papers of tacks at 6 cents a paper will
cost — cents.

9. 8 spools of thread at 6 cents a spool will
cost — cents.

10. 9 yards of braid at 3 cents a yard will
cost — cents.

11. 7 boxes of matches at 6 cents a box will
cost — cents.



2 times 7 are —
3 times 7 are —
4 times 7 are —
5 times 7 are —

L IN WIN 0IN

13

of 156=
of 30=
of 12=

EXERCISE 16.

1. Add by 7’s from 7 to 70.
2. Show by squares or marks:

10 times 7 are —

4 5.

T7x 6= Tx2=
"x 7= Tx4=
Tx 8= Tx3=

T 9= Tx5
Tx10= Tx7

Multiply 3 by 8, 6
Multiply 6 by 4, 8
Multiply 4 by 7, 4,
Multiply 7 by 6, 3

. Divide 35, 45, 25, 40, :
. Divide 24, 36, 48, 42,

14.
of 21=
of 24 =
of 36=

I WIN WIN

WIN WIN WIN

6 times 7 are —
7 times 7 are —
8 times 7 are —
9 times 7 are —

6.
Tx 6=
7Tx 9=
7x 8=
T™x 1=
Tx10=
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EXERCISE 16.

Show by drawing how many times—

1. 7 squares are contained in 14- squares.

2. 7 circles are contained in 28 circles.

8. 7 candles are contained in 21 candles.

4.7 * are contained in 35 *

6.7 »  are contained in 49  «

6. 7 * are contained in 42 *

7.7 * are contained in 70 *

8. 7 * are contained in 63 *

9. 10.

56+~ 7= There are — sevens and — in 29.

42+~ 7= There are — sevens and — in 46.

35+-T7= There are — sevens and — in 59.

49 +7=  There are — sevens and — in 39.

28 +7=  There are — sevens and — in 61.

70+7=  There are — sevens and — in 59.

63+ 7= There are — sevens and — in 68.

11. 12. ' 18.
of 14= 427+ 6= 26 = T7=
of 21 = 287+ 9= 48+ 7=
of 28 = 49+7+ 5= 32+-7=
of 35= 35+-7T+10= 54+-17=
of 42= 63T+ 7= 6l -17=
of 49 = 56T+ 6=

* Whatever the pupil desires to draw.

38=7=




EXERCISE 17. 63

2 . o
1. 3 of 15 oranges are — oranges.

1of15. O O O O O
3of15. O O O O O
O 0.0 0O

In the same way do the following:

} § of 15 oranges.

2. 2 of 21 apples are — apples.
8. 2 of 40 stars are — stars.
4. & of 24 birds are — birds.
6. 2 of 30 chairs are — chairs.
6. £ of 50 peaches are — peaches.
7. 2 of 42 balls are — balls.
8. If 24 marbles were divided equally among
3 boys, how many would each receive?
Jof24. e e e ¢ ¢ ¢ ¢ ¢ What 1 boy had.
cececccs

In the same way do the following:

9. If 42 cookies were divided equally among
7 boys, how many would each receive ?

10. If 35 horses were divided among 7 pas-
tures, how many would there be in each pasture?

11. If 56 oranges were put equally into 7
baskets, how many in each basket?

12. If 70 children were evenly in 7 classes,
how many in each class?



64 EXERCISE 18.

1. Show by squares or marks:

2 times 8 are — 6 times 8 are —
3 times 8 are — ‘ 7 times 8 are —
4 times 8 are — 8 times 8 are —
5 times 8 are — 9 times 8 are —

10 times 8 are —

2. Add by 8's from 8 to 80. -

Show by drawing how many times

3. 8 apples are contained in 32 apples.
4. 8 marbles are contained in 24 marbles.

5.8 . are contained in 40 .

6. 8 * are contained in 56 .

7.8 . are contained in 48 *

8. 9. 10. 11.

a 8x 2= 16+-8= 8x 3= 30=+8=
b. 8x 3= 32+-8= 8x10= 36+-8=
c. 8 4= 24 +-8= 8x 5= 50+-8=
d 8x 5= 40+8= 8x 9= 78 +8=
e. 8x 6= 64+-8= 8x 6= 43-+8=
f.8x T= 48+8= 8x 4= 19-+8=
g 8x 8= 566+8= 8x 7= 29+8=
h. 8x 9= 72+-8= 8x 2= 68 +-8=
. 8x10= 80+8= 8x 8= 82+8=

* Whatever the pupil desires to draw.




EXERCISE 19. 66

1. When meat is 8 cents a pound, how many
pounds can I buy for 40 cents?

For 0 0 0 0 0 0 0 0 Igetl pound.
For 0 0 0 0 0 0 0 o Iget1 pound.
For 0 0 0 0 0 0 0 o Iget1 pound.
For 0 0 0 0 0 0 0 o Igetl pound.
For 0 0 0 0 0 0 0 o Iget1 pound.
For 40 cents Iget— pounds.

In the same way do the following:

2. When flour is 8 dollars a barrel, 48 dollars
will pay for — Dbarrels.

3. If coats cost 8 dollars each, for 24 dollars
you caf buy — coats.

4. When slates are 8 cents apiece, for 72
cents you can buy — slates.

6. If sugar is 8 cents a pound, 80 cents will
pay for — pounds. _

6. If paper is 8 cents a quire, for 40 cents
you can get — quires.

7. When berries are 8 cents per quart, then
64 cents will buy — quarts.
--8. If clocks cost 8 dollars each, with 32
dollars — clocks can be bought.

9. With 56 dollars to buy railroad tickets at
8 dollars each, — tickets can be bought.

10. What is L of 56?7 2 of 567 I of 567



66 EXERCISE 20.
1. Show by squares or marks:

6 times 9 are —
7 times 9 are —

2 times 9 are —

3 times 9 are —

4 times 9 are — 8 times 9 are —

5 times 9 are — 9 times 9 are —
10 times 9 are —

2. 3. 4. d.
9x 3= 9+9= 36+9= 19+-9=
I9x 4= 18+9= 54 +-9= 38+-9=
I9x 7= 271 +9= 271 +-9= 42 -9 =
9x 6= 36+-9= 45 +9= 76 -9 =
9x 8= 45+9= 63+-9= 23+-9=

9x 5= 54+9= 18+-9= 57T+9=
9x10= 63+-9= 81+-9= 69+-9=
9x 9= 72+-9= 90+-9= 96 +-9=
I9x 2= 81+-9= 2+9= 84 +9=

SN R o8

.

6. Multiply each of the following numbers
by 9: 6; 8; 3; 7; 9; 1; 5; 10; 4; 2.
7.9 in 19 — times and — remainder.
. 8. In the same way state how many. times
9 is contained in 22; 30; 26; 34; 40; 52;
37; 58; 64; 55; 46; 66; 78; 73; 84; 80.
9. Multiply each number in Ex. 6 by 3; by
4; by 5; by 6; by 7; by 8.

|



EXERCISE. 21. 61

Copy and complete, ‘adding by —

1’8 |2’s |3's |4's 5’; 6’s 7l’s 8's | 9’s |10'8
4|156(6(7)|18(9]10
8 19
9112

10 -
12§ .
14

©|l | | | | | | O] =

—
(=]

The above, when completed, forms the multi-
plication table.

Complete the following table, and make other
tables having different figures in first row.

3|6(7|4|2(10/8[G]|9
412 B
7

3

8

10 100

5

2| 6 8 B

9

8
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1.
5+?7=14
16-8= 7
?7+6=15
8x8= 1?7
?7+-7T= 6
?x5=45
14—-9= 7?7
48+ 7= 8
7—9= 6
36+-4= 1?7
8l1+7?7=9

4.
25+ 7=33
36+ 7= 6
7?7+~ 8= 9
16— 7= 17
?x 6=54
14— 7= 8
7+ 9= 7
?7x 6=48
4+15= ?
18— 9= 7
?x 8=40
23— =12

EXHRCISE 22.

2.
12— 7= 8
6x9= 17
6= 1T
T+ 7=13
14—-5= 17
5+ 17=12
?x8=32
12-56= 7
21+7= 9
6+ 7=14
76+8= 7

5.
9+ ?7=17
30+ 6= 7
8x 7=172
17— 8= 7?
44+ ?7=30
54+ 9= 7
7+ 8= 5§
8+ ?7=16
Tx 6= 17
6+ ?7=20
Tx 4= 7
204+12= 7?

3.
?7—-9=1
4+ 7=12
?7x9=63

49+ 7= 1
13—7=9
?x9=>54
32+4="1
9+ ?2=2
?x6=42
15—-8= 1
85— 7=1T1

6.
30+20= ?
35+ 8= 1
2+ 8= 1
40+ ?2= 5
Tx ?=056
50—-40= 7?7
Tx 4= 17
7+ 6= 9
4x ?7=32
80+ 8= 7
58+ ?=66
63+ ?= T




EXERCISE 28. 69

1. 2. 3.
-a. 3's in 42= - 6’s in 54 = 9s in 36=
b. T's in 35 = 2's in 30= 4’s in 24 =
c. 8s in 40 = 9's in 18= 7's in 42 =
d. 9's in 45 = 4’s in 36 = 8's in 48 =
e. 6's in 42= 8's in 32= 4’s in 28 =
fo Ts in 63= 5's in 45= 8's in 64 =
g- 8’8 in 24 = 2’s in 20= 6’s in 30=
h. 2's in 22 = 3’'s in 33 = 5’s in 60=

4. J. 6. 7.
a. 40—8= 54—-6= 38—-9= 32-11=
b. 64—-8= 62—-6= 42-9= 40-11=
c. 17-8= 33—-6= 15—-9= 38-11=
d. 29-8= 70-6= 19-9= 54-11=
e. 36—8= 84—-6= 36—9= 62—-11=
Jf-42—-8= 36—6= 51-9= 80-11=
g-19-8=52—-6= 18—-9= 91-11=

Change the numbers to be taken away and
again subtract from the same numbers.

8. Divide 12 by 4, multiply by 3, add 4,
subtract  of 9, divide by 5, add 1 of 12, and
divide by 4.

9. 8) 72, 36, 45, 32, 56, 64, 48.
10. 7)56, 28, 49, 63, 35, 21, 42.




70 EXERCISE 24.

1. Divide 35 by all the even ‘numbers
between 10 and 20, and give the results.

2. Divide 28 by all the odd numbers be-
tween 5 and 15, and give the results.

3. How many skates in 12 pairs?

4. Subtract by 4’s from 60 to 20.

5. Subtract by 9’s from 81 to 18.

6. One black-board is 5) feet long, a second
is 12} feet long. How many yards long are
both boards ? ‘

7. 18 inches is how much more than a foot ?

8. What will 9 rulers cost at 8 cents each ?

9. Annie had 75 cents and spent a half
dollar. How much money had she left?

10. Bertie had 50 cents and spent all but
+5 of it. How much money had he left?

11. If a keg holds 32 quarts of water how
many gallons will it hold ?

12. What will 10 blank-books cost at 9
cents apiece ? _

13. How many times will 36 oranges fill a
fruit dish which holds 9 oranges?

14. If a man walks 4 miles an hour how
many hours will he be in walking 28 miles?

15. Make problems for: } of 24: 8 x 6;
50 — (8 x 3); 100 —(7 x 9). ‘




EXERCISE 256. 71

@m

QUART.

BUSHEL.

2 pints (pt.) = 1 quart (qt.) |
8 quarts =1 peck (pk.)
4 pecks = 1 bushel (bu.)

There are — quarts in } peck.
In 1 peck 2 quarts there are — quarts.
In ! bushel there are — quarts.
In 1 bushel 3 pecks there are — pecks.
In 1 bushel there are — quarts.
In 1 bushel 4 quarts there are — quarts.
In 4 quarts 1 pint there are — pints.
1 pint is what part of a quart?
What part of a peck is 1 quart? 3 quarts?
4 quarts? 5 quarts?

10. What part of a bushel is 1 peck? 2
pecks? 3 pecks?

11. At 80 cents a bushel, what will 1 peck
of corn cost? 3 pk.? 5 pk.?

12. At 8 cents a quart, what will 2 qt. 1 pt.
of berries cost?

PN O N



72 EXERCISE 26.

1. 1 pk. and 2 qt. of berries will cost how
much at the rate of 9¢ a quart?

2. 2 pk. 4 qt. of apples will cost how much
at 407 a peck?

3. If grain sells at 32¢ a peck, how much
must be paid for 3 quarts? How much for
1 bu.? How much for 2 pk. and 2 qt.?

4. At 47 a pint, what will a peck of berries
cost? 1 qt.? 1 pk. 2 qt.?

5. At a dollar a bushel, how many pecks of
grain can I buy for 75¢7?

6. What will 3 qt. of milk cost at 24¢ a
gallon ? :

7. A five-gallon can of oil costs 50¢. What
must I pay for 11 gal. at the same rate?

8. How many quart cans will it take to
hold 5} gal. of milk?

9. How long will 2 bu. 3 pk. of potatoes
last a family if they eat a peck every week?

10. 1t takes 2] bu. of potatoes to fill a
barrel. How many bushels will it take to fill
"6 barrels ?

11. At 67 a pint, what will 4 quarts and a
pint of cranberries cost ?

12. 1f a horse eats a peck of oats a day,
how many bushels will he eat in four weeks ?
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EXERCISE 27. ' 78

1. There are 16 ounces (0z.) in 1 pound (Ib.).
How many oz. in } 1b.? in } 1b.? in 2 1b.? in
1} 1b.? in { 1b.? in § 1b.?

2. What part of a pound is 8 0z.? 4 0z.?
12 0z.? 2 0z.? 6 0z.7 10 o0z.?

3. What. will 8 oz. cheese cost at 12¢ a
pound ?

4. What will 1 1b. 4 oz. of butter cost at
32¢ a pound?

5. At 87 a pound, what will 3 1b. 8 oz. of
sugar cost? 11b. 4 0z.? 41b. 20z.7 21b. 1 0z.?

6. I bought 6 1b. 4 oz. of meat at 12¢ a
pound, and paid for it in eggs at 25¢ a dozen.
How many eggs did I give?

7. At 12¢ a doz., what will 20 eggs cost?

8. At 24¢ a doz., what will 30 eggs cost?

‘9. At 20¢ a doz., what will 12 eggs cost?
24 eggs? 18 eggs? 30 eggs?

10. What part of a dozen are 4 eggs? 6 eggs?
8 eggs? 3 eggs? 9 eggs? 2 eggs? 10 eggs?

11. How many cups, each holding a gill, can
be filled from a teapot holding a gallon?

12. John starts to school at half-past eight
in the morning, and returns home at half-past
four in the afternoon. How many hours is he
away ?



SECTION V.

EXERCISE 1.

1. 2. 3. 4
a. 14+10= 87—-10= 59+20= 12+60=
b. 18+10= 39-20= 58-20= 65—40=
c. 24+10= 47—20= 67+30= 83—50=
d 38+10= 62—-30= 72—40= 34+40=
e. 68+20= 43-30= 83—50= 51+30=
7 43+80= 87-50= 78-40= 27+50=
g. 55+40= 69—-40= 81-60= 89—60=
h. 271+60= 94—60= 37+40= 67—50=

5. 6. 7.
a. 164+10+1= 58+20+2= 25+30+5=
b. 25+10+1= 35+30+5= 68+20+2=
c. 23420+6= T6+20+4= 46+40+4=
d 35+30+3= 24+60+6= 84+10+6=
e. 41+80+8= 67+20+3= 79+20+1=
£ 24+40+3= 73+20+7= 31+40+9=
g. 36+50+2= 82+10+8= 67+20+3=

8. 28+40-30+50—-20-20—-20+30+10—-20=
9. 86—20-30+50—-60—20+40+20—-30—20=
10. 42—-30+60—-30—-30+50+30—-40—-30+20=
11. 13+50+30—-40+20-30—-30+60—20—-40=
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EXERCISE 2. 75

1. 2. 3. 4
24+16= 36+14= 24+46= 42+38=

33+17= 724+28= T72+28= 65+25=
27+13= 55+35= 46+34= 24+36=
42+18= 88+12= 39+51= 51+39=
82+18= 43+47= 88+12= 48+22=
83+17= 59+21= 175+15= 34+66=
46+14= 86+14= 41+39= 89+11=
55+15= 64+26= 64+26= 26+54=
38+12= 57+33= 37+33= 63+27=

5. ' 6. 7. 4
24+20+8= 73+104+9=  27+30+6=

36+20+6= 25450+ 7= 69+20+8=
45+30+9= 68+30+3= 36+50+6=
T4+20+7= 34+50+8=  44+30+8=
7T7+404+6= 47+40+7= 57+20+8=
59+30+4= 84+10+6=  65+20+6=
36+50+5= 36+40+7=  23+60+8=

83+10+9= 69+20+6= - 47+30+5=

65+20+8= 52+30+9=  28+50+3=

8. 47+13+24-50+16+36—-60+24+38—50=

9

-10.
11.
12.

. 39+21+32—-60+28+11—-40+29+37—-70=
174+33+25—-40+556—-60+24+16+13—-60=
89—-60+21+28—-30+22+26—-60—20+54=
15+20+20+15—-40+33—-20+47+11-60=
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25+18=
36+15=
58+18=
37415=
63+19=

42+19=
713+18=
36+156=
- 28+13=
54+18=

29+11=
65+22=
49+21=
17+22=

38+31=

13.
54 +25=
17+21=
58+31=
66+33=
83+16=

EXERCISE 8.

2.
81+19=
56+18=

34+17=
78+13="

43+18=

6.
27+19=
63+14=
76+18=
49+12=
54+17=

10.
37+42=
53+32=
14+22=
48+21=
22+26=

14.
56+33=
89+11=
65+23=
41 +84=
65+24=

3.
34+18=
66+16=
83+19=
47+14=
656+16=

7.
12+19=
38+14=
51+18=
48+12=
29+13=

11.
12+28=

37+34=
54+27=
16+45=
69+24=

16.
28+35=
73+18=
45+16=
656+26=
81+18=

4.
72+16=

36+13=
64+18=
27+16=
41+18=

59+12=
56+17=
36+19=
68+15=

43+19=

12.
26+38=
63+28=
57+26=
35+46=
72+18=

16.
44+48=
83+16=
68+24=
19+23=
51+19=




14+68=
47+15=
61+29=
83+16=
26+656=

52+39=
59+34=
35+27=
48+16=
14+17=

28+56=
86+13=
63 +28=
47+36=
21+39=

13.
32+29=
56+34=
65+27=
19+566=
35+48=

EXERCISE 4.

2.
57+14=
23+18=
65+19=
17+17=
78+16=

6.
76+15=
32+17=
74+18=
43+18=
49+15=

10.
66+27=
28+33=
55+37=
39+56=
64+28=

14.
16+27=
55+45=
47+37=
64+36=
43+18=

3.
38+36=
66+29=
36+46=
59+21=
27+34=

7.
43+28=
52+39=
32+29=
18+78=
16+35=

11.
38+25=
27+38=
48+13=
56+27=
23+69=

15.
47428=
72+19=
37+18=
52+439=
65+26=

77

4.
27+54=
69+32=
56+27=
78+13=
36+48=

8.
67+28=
14+69=
45+26=
83+17=
25+38=

12.
59+34=
27+65=
48+27=
34+58=
48+28=

16.
19+32=
656+25=
27+38=
6+16=
39+48=



78 EXERCISE 6.

1. 2.
. 46—10=  36—20=
b. 39—-10=  62-20=
89—-10=  97-20=
d. 14-10= 43-30=
56—-10=  85-30=
32—-10= 100—-30=
67—-20=  58-30=
43-20=  84—-40=
86—-20=  79-40=

e

O

o

3

4.

95—-50=  96—40=
57-50=  53-30=
712-50=  78-60=
46—-30=  95—70=
81-60=  79-50=
76-40=  82-30=
69—-30=  67-30=
63—40=  64—40=
38—20=  86—60=

6

v 46—-10—2= 100—10—-8=
. 39—10—-6= 67—-10—-2=
¢c. 56—-10—3= 47—-10-3=
d. 14-10—-4=  98—-10—-6=
e. 68—10—7= 36—10—-2=
[ 856—-10—4= 86-10—-3=
g. 871-10—4=  89-10-T7=
h. 18—10—-3= 565—-10-3=
. 96—10—-5= 78-10—-6=

8. 9.
46—12= 856—14=
39—-16= 57-14=
56—13= 78—13=

74—-14= 96—-16=

10.
100—-18=
67—-12=
47—-13=
98-16=

7.
36—10—3=
64—10—2=
87—10—6=
49-10—-7=
63—-10—1=
98—-10—6=
58 —10—3=
85—-10—4=

T7-10-5=

11.
86—13=
89—17=
56—13=
78—16=
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EXERCISE 6. 79

1. 2. 3. 4.
a. 46-13= 58—-13= 29-13= 95-14=
b, 59—14= T74—11= 66-16= 53—12=
c. 99—16= 47-13= 64—-13= 387-15=
d. 100-12= 69-18= '37—14= 82-11=
e. 85—12= 35-12= 92-11= 85-14=
f 36—14= 86-—15= 79-18= 66—13=
g. 58—12= 68-16= 48-16= 79—16=
h. 63—11= 97-13= 717-15= 44-11=
i. T4-12= 59—15= 87-17= 68—17=

.5 6. 7.
a. 32—10—8= 47-10—-8= 38—10—7=
b 73—10—17= 61—10—6= 76—10—5=
c. 65—10—6= 76—10—8= 58—10—8=
d. 44—-10—8= 92—10—38= 97—-10—6=
e. 84—10—T7= 55—10—8= 49-10—4=
£ 72—10—6= 85—10—7= 87—10—5=
g. 56—10—8= 58—10—8= 79—10—6=
h. 95—10—8= 64—10—5= 65—10—4=
i. 718—10—6= 83—-10—8= 96—10—3=
8 9. 10 11.

32—18=  72-16=  47-18=  85-171=
73—17=  56—18=  61-16=  58-13=
65—16=  95-18=  176—18=  64—15=

44+18= 73—16= 92-13= 83—18=



o SR

-~
o~

S

|

1.
54+26=
65+ 27=
8l1-14=
36 +35=
93 -556=
9+17=
42—-33=
28+46=
53—-19=

5.
39+14=

b. 42+13=

d.

g
h.

27T-19=
56 —18=
35—14=
27 +64=
33 +28=
43—-15=
68 —25=

EXERCISE 9.

2.
271+45=
8+17=
36—19=
65 +26=
43 +38=
84—17=
52—-256=
93 —-48=
81 —-38=

6.
34-17=
28+ 14=
36 +17=
45+18=
36—-19=
29—-18=
37 —-28=
42 + 24 =
33+17=

3.
46+18=
54—19=
71-16=
26+13=
42+12=
23+46=
32—-16=
27+38=
49—-26=

7.
40—-24=
30—15=
40-18=
50—-25=
60—16=
70—-28=
40-27=
60—42=
30-19=

30. (10+10, 11+ 11, ete.)

4.
46-11=
8—-17=
36+19=
65 —26=
43 —38=
84+17=
93 -26=
81—-27=
36+49=

8.
45+16=
71+19=
56+ 12=
38+ 14=
28 +18=
91-16=
21+ 52=
34+18=
56—-19=

9. From 100 take 46; 37; 69; 28; 51; 47.
10. Add to itself each number from 10 to

11 Make problems for 100—-36; 8x7; 4x9;”
50+ (3 x 4); 50—(6x 7); 100—(9 x 8).

I
|
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EXERCISE 10.

Copy and add:

(1)
24
22

(8
48
30

(15)
24
66

(22)
34
48

(29)
39
36

(36)
39
54

(2)
31
26

(9)
20
6

(16)
34
46

(23)
45
37

(30)
28
47

(37)
46
37

(3)
43
24

(10)
34
40

(17)
45
35

(24)
53
29

- (81)

17
46

(88)
39
24

(4
36

40

(11)
45
30

(18)
53
27

(25)
36
48

(32)
35
37

(39)
17
65

(9)
25

42

(12)
53
20

(19)
A
36

(26)
45
28

(89)
48
45

(40)
28
44

(©)
31
46

(13)
27
33

(20)
48
34

(27)
24
55
(84)
24
68

(41)
55
37

(7)
27
30

(14)
48
32

(21)
24
68

(28)
53
28

(89)
56
35

(42)
64
28
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EXERCISE 11

Copy and add:

(1)
13
24
42

=
(7)
22
36
32

(13)
59
18
23

(19)
27
34
24

(25)
43
27
14

P )

(2)
22
43
24

8)

34
21
25

(14
48
26
14

(20)
42
36

16

(26)
26
43
25

(3)
31
24
32

)
41
28
31

(15)
25
44

23

(21)
36
21
26

(27)
40
24
14

4
43

12
34

(10)
30
47
23

(16)

56
21
14
(22)
53
18
21
(28)
38
27
28

—_—

0
12

41
36

(11)
22
34
24

(17)
37
32
25

(23)
19
27
52

(29)
27
36
26

(6)
24
31

(12)
25
42
23

(18)
14
24
52

(24)
26
35
27

(80)
33
42
15



EXERCISE 12. 86

Drinrn TABLE A.*

. a b c d e f. g h ik TaBLES A AND B.
L]1]11]21]81]41]51]61[71]81]01
m.|2|12|22|82|42(52|62(72 (82|92 1. nt+ 9=
n |3 |13[23 33|43 (53 62|73 (83|03 2. n+19=
o.| 4 |14 24|34 |44 54|64 |74 |84 |04 3. p+ 8=
p.| 5 |15(25(85|45|55]66(75(85|95 4. p+18=
g.| 6 [16(26|86|46|56)|66| 76|86 |96 5 r+1b5=
r.| 7 |17|27|87 |47 |57 |67 |77 |87 |97 6. t+ T=
s.|8|18{28|38 48|58 68|78 88|98 7. g— 8=
t.|9[19]|20(39|49 (59|69 79|89 |99 8 _18=
u. /102030405060 (70|80 |90 (100 - 9
9. o—17=
. 10. m— 9=
DriL TasrLe B.* 11. ax T=
a b c d e f g h i kK 12. 8x a=
L|1]11]41]21]61|81|71|61]|81]01 13. ax 6=
m.| 6 16|46 |26 (66|36 | 76|56 |86 |96 14. 9% a=
n |3 |13[43]23]63|33| 73|53 83|03 16, f+ 9=
o.| 8 |18]48|28|68|38 (78|58 (88|98 16’.‘g+ =
p.|5|16|45|25(65)35|76|56|85|95 17. h= 9=
q.| 2 [12]42 (2262|3272 528292 18. e~ 4=
r.| 7 |17]47(27 67|37 |77 |67 |87|97 ..
s.| 4 [14]44|24 |64 (34|74 |54]84 04 19. ’L_:- -
t.|9|19]|49/29|69(39|79|50 (89|09 20. g+ 8=
u. |10 {20 |50 30| 70|40 |80 |60 |90 {100

# The further use of these drill tables is shown in the Manual for Teachers.



86 EXERCISE 13.

Dri. TaBLe C.

b c. d e f. g h i R
12|26 |34 4763|6776 |84
19|22 (814362707387
16 {2839 41|65|68] 7983
21183|44|59 (621758697
15|27 (36|49(561{68]72|90
2024 (32|46|58 618082
1320 (3842|564 [66]71|88
1823|4045 57|64 |77]856(91
11{30(85|50|56|65]74|89 |98

25|37 |48 |60 |69 |78]81[100

2|88

S
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To the numbers from —

to 4 add 12, 13, 14, 15, 16, 17, 18, 19.
to g « 22,23, 24, 25, 26, 27, 28, 29.
to f « 32, 33, 34, 35, 36, 37, 38, 39.
to e « 42, 43, 44, 45, 46, 47, 48, 49,
to d « 52, 53, 54, 55, 56, 57, 58, 59.
a to ¢ « 62, 63, 64, 65, 66, 67, 68, 69.

From the numbers —
7. ¢ to ksubtract 11, 12, 13, 14, 15, 16, 17, 18, 19.
8. dtok « 21, 22, 23, 24, 25, 26, 27, 28, 29.
9. etok « 31, 32, 33, 34, 35, 36, 37, 38, 39.
10. ftok « 41,42, 43, 44,45, 46,47, 48, 49.
11. gtok « 51,52, 53, 54,55, 56,57, 58,59.
12. htok L 61, 62, 63, 64, 65, 66, 67, 68, 69.

S G SN
S : 8 88



EXERCISE 14. : 87

1. 2. : 3.
o 114+11+11= 11 x3= 11 x4=
b. 12+12+12= 12x 3= 12x4=
c. 13+13+13= 13x3= 13x4=
d. 14+14+14= 14 x 3= 14 x4=
e. 15+15+15= 15x3= 15x 4=
f- 16+16+16= 16 x 3= 16 x 4=
g 1T+17+17= 17x3= 17 x4=
h. 18+18+18= 18x 3= 18 x 4=
7. 194+19+19= 19x3= 19x4=

4. d. 6. 7.
a. 33+3= 44 4= 11 x5= 55+5=
b. 36+-3= 48 -4 = 12x 5= 60+-5=
c. 39+-3= 52+-4= 13x5= 65+-5=
d. 42+3= 56 +-4= 14 x 5= 70+-5=
e. 45+3= 60+-4= 15x 5= 75+56=
S 48+3= 64-4= 16 x 5= 80+-5=
g- 81+3= 68+4= 17x5= 85+5=
h. 54+-3=  12+4= 18 x 5= 90+5=
. S7+-3= 76 +-4= 19x 5= 95 +-5=

8. 9. 10. 11.
13 x4= 48 - 4= 14 x 5= 70+-5=
16 x4 = 64-+-4= 17T x 5= 80+5=
18x4= 72+4= 18 x 5= 75+-5=

16x4= 80+-4= 13x 5= 95+-5=



11 x6=
12x 6=
13x6=
14 x6=
15x 6=
16 x 6=

12x 5=
13 x6=
11 x8=
14 x 7=
15x 6=

12x 8=
14x 5=
16 x4=
15x 5=
17x4=

18.
96+-12=
88-+11=
52+13=
65+13=
91+-13=

EXERCISE 16.

- 2.

11 x7=
12x 7=
13x 7=
11 x8=
12x 8=
11 x9=

6.
12x 8=
13 x 7=
14x 7=
15x 6=
16 x 6=

10.
18 x 5=
16 x3=
19x5=
14 x 6=
13x 6=

14.

78-13=

39+13=
70+-14=
56+-14=
84-+14=

3.
11x9=

11 x8= "

12x 7=
13x6=
12x6=
13x 5=

7.
16 x 3=
16 x5=
16 x 4=
156 x 5=
15x4=

11.
16 x 5=
18 x4=

15x4=

14x 7=
12x 6=

15.
42+-14=
70+14=
98+14=
75+156=
45+16=

4.
14 x4=

15x 5=
13x 7=
14 x3=
15x 6=
14 x 5=

14 x 3=
13x3=
15x5=
16 x5=
13x 5=

12.
13xT7=
14 x 5=
12x 7=
11x9=
15x 5=

16.
32+16=
64-+-16=
80+16=
96-+-16=
48-+16=



EXERCISE 16. 89

1. 2. 3. 4.
34+-17= 54+18= 76-+19= 45+-15=
68+17= 90-+18= 80+20= 5+-15=
51+17=  72+18= 38+19= 51+17=
86+17=  67T+19= 68=+17T= 65+13=
36+-18= 95+19=  72+18= 60+-15=

5. 6. 7. 8.
64+-16= 76+-19= 72+18=  48-+-16=
68+-17= 52+13= 78+13= 0+-14=
2+18= 45+16= 65+13= 84+12=
5+-156= 54+18= 68+17T=  52+13=
80+16= 78+13= 84-+14= 57+19=

9. 10. 11. 12.
18x 4= 57+19= 18x 5= 39+13=
8+17= 54+18= 75+15= 19x 4=
12x 6= 13x 6= 16x 4= 13x 6=
11x 7= 16x 6= 52+13=  90-+18=
39+13= 51=+17= 72-+-18= 17x &=

13. 14. 14. 16.
10f60=  lof90=  10of98=  lof 90=
sof 3= 1of78=  lof91=  lof65=
1of 54= 1of 51= 20f85=  lof 12=
lof 66=  fof 64=  lof45=  lof 42=

s of 96= 3 of 38= 2 of 52= 10of 716=



20 EXERCISE 17.

1. 2. 3. 4.
76 —-23= 37+48= 84+ 8= 76+ 3=
444+48= 100—69= 37+18= 19x 4=
37+36= 82+18= 49-16= 83—-29=
29+52= 94—-18= 18x 4= 17x 5=
80—27= 67—-38= 90+ 4= 48+24=

5 6 7. 8

85+ 6= 254+46=  47+18= 19x 5=
13x 7= 82-29= 18x 4= 27+ 56 =
82—-46= 17x 5= 73—-27= 90+ 4=
70+ 9= 43+29= 484 36= 16 x 4=
44 +27= 13x 6= 6+ 3= 43—-19=

9. 10. 11. 12.
2+ 4= 18x 4= 18+ 3= 16 x 5=
13x 3= 87+ 9= 48+18= 68+ 4=
25+568= 69—-35= 19x 3= 91 -52=
41-27=  84+16=  37+656= 27+48=
38+16= 98+ 5=  86—48= 14x 7=

18. 14. 15. 16.
45+38=  656—-37=  17+568= 100+ 3=
16x 6= 100+ 6= 14x 7= 13x 7=
18x 3= 63+29= 85—-66=  36+38=
51-29=  17x 4=  54+39= 15x 4=
100+ 7= 83+ 4= 100+ 8= 74-—-28=



SECTION VL

EXERCISE 1.

1. 4 apples will cost — times as much as
1 apple.

2. 10 peaches will cost — times as much
as 1 peach.

3. 1 lamp will cost { as much as — lamps.

4. 1 cent is what part of 3 cents? 1 cent
is — of 3 cents.

5. 2 cents are what part of 3 cents? I cent

is — of 3 cents. 2 cents are — of 3 cents.

6. 3 dollars is what part of 8 dollars? 1
dollar is — of 8 dollars. 3 dollars are — of
8 dollars.

7. 1 book will cost what part as much as 5
books? 1 book will cost — as much as 5 books.
8. 2 books will cost what part as much as 5
books? 2 books will cost — as much as 5 books.
9. If 5 books cost 10 dollars, 1 book will
cost £ of 10 dollars, or — dollars. 2 books
will cost 2 times — dollars, or — dollars.
10. If it takes a boy four hours to do a piece
of work, it would have taken 2 boys — hours

to do it.



22 _ EXERCISE 2.

1. If T can buy 20 1b. of sugar for a dollar,
what will 4 1b. cost? 6 1b.? 15 1b.?

2. Four men can build a wall in 6 days. It
will take one man — days to build it.

3. At 11# each, how much will it cost to get
washed at the laundry 12 collars and 8 pairs
of cuffs?

4. 16 gallons are how many quarts more than
32 quarts? How many gallons less than 100
quarts ? .

5. What is the cost of 8 apples at 2 cents
apiece? If 1 apple costs 2 cents, 8 apples will
cost 8 times 2 cents. 8 times 2 cents are —.

6. At 3 cents apiece, what will 9 oranges
cost? 9 oranges will cost 9 times as much as
1 orange. 9 times 3 cents are — cents.

7. If four pencils cost 12¢, 1 pencil will cost
—of 127, or —¢. 5 pencils will cost 5 times
—F#, or —/#4. : '
4 pencils cost 12¢.
1 pencil cost —v¢.
5 pencils cost —~.

8. 3 bottles of ink cost 24r.
1 bottle of ink cost —~.
8 bottles of ink cost —z.



EXERCISE 3. 23

1. At 6 cents a pound, what will 12 1b. of
meat cost? What will 4 1b. 8 oz. cost?

2. 4 tops cost 12¢.
1 top cost —~.
9 tops cost —v.

3. 12 apples will cost — times as much as
3 apples. If 3 apples cost 2#, 12 apples will
cost — times 2¢, or —z.

4. A pound of meat costs 20 cents. What
can you say about 2 pounds? about 30 cents?
If a pound of meat costs 20 cents, 2 pounds
will cost — cents. For 30 cents I can buy
— pounds of meat at 20 cents a pound.

5. A boy can saw one-half a cord of wood in
a day. What can you say about 1 cord? about
2 cords? about 6 days? about 2 boys?

6. A man earns $7 a week. How much will
he earn in a quarter of a year?

7. If a man smokes 3 cigars every week-day,
and 4 on Sunday, how many will he smoke
during a month of 4 weeks?

8. Name two equal numbers whose sum is
35 + 37. '

9. Name three equal numbers whose sum is
38 + 46,



94 EXERCISE 4.

1. Name four equal numbers whose sum is
34 + 50.

2. A purse contains one dollar. How many
times may 10 cents be taken from it? 2
cents? 4 cents?

3. How many “nickels” or five cent pieces
in 90 cents?

4. What five coins may make 82 cents?

5. Charles has 25 cents and Edward 17 cents.
How many cents must Charles give Edward
that both may have the same amount?

6. 3 of what number is equal to } of 50°?

7. How many days in the months of June,
July and August?

8. What two months, one followmg the other,
have together 62 days?

9. Provide yourself with a long string and
measure off 16] feet. Tie a knot at the end
of every foot and tie a little piece of colored
string at the end of every yard. This string
is just 1 rod long. How many feet in 1 rod?
Keep this string to measure distances.

10. In 10 ft. there are — yd. and — ft.

11. In 14 ft. there are — yd. and — ft.

12. In 1 rod there are — yd. and — ft.

13. There are how many yards in 1 rod?



EXERCISE 6. 95

1. “Guess”’ and then measure the following
distances. Give the difference between your
estimate and the true measure. Make a table
as follows:

TRUE
'ANCE. ESTIMATE. ERROR.
Dist MEASURE.

Length of school-room ........

Height of window ...........

Width of school grounds . . . . ...

Length of thispage ..........

Your height . ..............

Width of window-pane . . ......

Height of teacher’s desk . ... ...

Distance around your hat . . .. ..

2. How many rods and feet wide is the lot
upon which your school-house is placed ?

3. In 20 ft. there is — rd. and — ft.

4. In 8 yd. there is — rd. and — yd.



26 EXERCISE 6.

1. In 2 rd. there are — ft. How many ft.
in 3 rd.? in 4 rd.?

2. In 40 ft. there are — rd. and — ft.

3. In 50 ft. there are — rd. and — ft.

4. In 70 ft. there are — rd. and — ft.

- 6. In 11 yd. there are — rd. How many
rd. in 22 yd.?

6. In 30 yd. there are — rd. and — yd.

7. A room is 4 yd. long. How many feet
longer must it be to be a rod long?

8. A farmer owned 100 acres of land. He
planted ; of it with potatoes and the rest
with corn. How many acres did he plant
with corn?

9. There are 24 hours in a day. How many
hours in 3 days?

10. How many 5 cent pieces make a half-
dollar ?

11. 24 sheets of paper make one quire.
How many sheets in 2 quires? in 3 quires?
How many quires and sheets are 50 sheets?

12. If it takes 12 panes of glass for one
window, how many windows can be made
with 48 panes of glass?

13. How many shoes will be needed for
8 horses? How many for 4 yoke of oxen?



— ———

EXERCISE 7. o7

1. How many quarts in 12 gal.? in 15 gal.?

2. How many brass balls, for horns, will be
needed for 10 yoke of oxen?

3. How many dozen bananas and what part
of a dozen are in a bunch of 50 bananas?

4. How many yards and how many feet
besides are there in 40 feet of string?

5. How many dozen pens and what part of
a dozen, at 1 cent each, can you buy for 30
cents ?

6. How many faces have 8 cubes?

7. How many faces have 12 cylinders ?

8. In one pasture were 15 sheep, in another
23 sheep, and in another 31 sheep. How
many in the three pastures?

9. How many pecks in 9 bushels?

10. How many quarts in 6 pecks?

11. What will be the cost of 9 quarts of
beans at 8 cents a quart?

12. There are 45 plants in a strawberry bed -
in 5 equal rows. How many plants in each
row?

18. What number do you put with each of
the following numbers to make 50: 42, 16,
18, 25, 34, 45, 15, 21, 38 and 207

14. How many leaflets in 12 clovers?



98 EXERCISE 8.

1. There are 95 pages in one book and 40
pages in another book. How many more
pages in the first than in the second book?

2. How many cows in 5 fields? 40 in the
first, 25 in the second, 32 in the third, 14 in
the fourth, 27 in the fifth.

3. How many sheets of paper in 21 quires?
How many quires and sheets in 40 sheets?

4. If there are 18 buttons on one card and
24 buttons on another, how many buttons on
both?

5. How many mittens in 15 pairs?

6. Into how many yard-sticks can a stick
be cut which is 36 ft. long? 45 ft. long? _
7. When cloth is 25 cents a yard how

many yards can you buy for a dollar?

8. A little boy spent 25 cents and 15
cents and 30 cents out of a dollar bill. How
much money had he left?

9. If 45 cents will buy 9 yards of calico
what will 1 yard cost?

10. Mary had 21 cents in 3—cent pieces.
How many 3-cent pieces were there?

11. In one car there were 84 people, and in
the second 65. How many more in the first
car than in the second?



EXERCISE 9. : 29

1. How many legs have 3 spiders and 4
flies ?

2. Mary spent 49 days with her grandmother.
How many weeks did she spend? .

3. How many days in November, December
and January?

4. Harry lived 90 miles away from his
cousin; he went half the distance the first
day. How many miles had he left to go?

5. Emma is 15 years old and her father is
three times her age. How old is he?

6. Frank is 9 years old, and he is just 1 as
old as his mother. What is his mother’s age?

7. A man sold 15 barrels of flour to one
man, 23 to another, 16 to another, and then
had 42 barrels left. How many had he at
first ? A

8. A lady paid 47 cents for some velvet, 15
cents for ribbon, 34 cents for lace. How much
did she pay for all?

9. If a man travels 57 miles by stage and
.8 miles by train how far does he travel in
all?

10. A man bought a wagon for 87 dollars
and sold it for 96 dollars. How much did he
gain? '



100 : EXERCISE 10.

1. How many 10-dollar bills will pay for a
cart which cost 40 dollars?

2. A little girl sewed one hour and a quarter.
How many minutes did she sew?

3. Mary studied 30 minutes (or } hour) every
day for 5 days. How many hours did she study?

4. There are 52 weeks in a year. In ] of a
year there are — weeks.

5. A man paid 81 dollars for a horse and }
as much for a saddlee. How much did the
saddle cost him ?

6. A gallon holds 4 quarts. How many quarts
will 9 gallons hold?

7. A bushel holds 32 quarts. How many
quarts in J a bushel?

8. There are 7x8 apples in a basket, and
4 x 6 apples are taken out. Then how many
apples are left?

9. 56 is how many more than 3 x3?

10. 42 is how many more than 4Xx5?

11. 50 is how many more than 7x47?

12. 35 is how many more than 4x4?

138. 72 is how many more than 8x5?

14. In a basket were 42 oranges. It would

hold 85 oranges. How many more were needed
“to fill it?



EXERCISE 11. 101

1. What number must be taken from 56 to
leave 387

2. What number must be taken from 38 to
leave 147

3. A man sold 15 horses one month, and
24 horses the next month. How many did he
sell in all?

4. What will 12 rocking-horses cost at 3
dollars each?

5. A school-room has 60 seats in 5 equal
rows. How many seats in each row?

6. What is the cost of 25 bushels of potatoes
at 2 dollars a bushel ?

7. The sum of 2 numbers is 84. One of
the numbers is 52. What is the other?

8. There were 5 strips of carpeting each 6
yards long. How many feet of carpeting in all?

9. How many times must you empty a peck
measure to fill a basket holding 64 quarts of
beans ?

10. What part of a bushel will it take to fill
a four-quart measure 4 times?

11. If an ox wears 8 shoes how many oxen
will 32 shoes supply?

12. Mary had 20 hens and she sold 4. What
part of the whole flock did she sell?



102 EXERCISE 12.

1. What three equal numbers make 45?

2. What four equal numbers make 64.

3. How many quarts in 36 pints?

4. What two numbers will you have by tak-
ing 8 from 25 and putting it with 12? By
taking 9 from 33 and putting it with 77

5. Mary learned 12 lines of poetry every day
for 6 days. How much did she learn in all?

6. At 20 cents a quire what will 12 sheets of
paper cos{? What will 50 sheets cost?

7. How much are a quarter of a dollar, a
dime, a five-cent piece, and 8 pennies?

8. How much will 25 two-cent stamps cost?

9. What will 3 five-cent stamps and 10 one-
cent stamps cost?

10. Six squares and 3 triangles have —
corners.

11. Four squares have — more corners than
four triangles.

12. How many wheels have 4 wagons and 5
gigs?

18. One boy had £ of 24 cents; another 2
of 24 cents. Which one had the most?

14. On a fence were 12 robins, on the ground
were 18 crows, and in a tree were 16 blue-jays. -
How many birds in all?



EXERCISE 13. 103

1. What will 5] pounds of sugar cost at 8
cents a pound?

2. What will 2 yards of cloth cost if 5 yards
cost 40 cents?

3. Mabel lives 1) miles from school. How
far does she walk to and from school in 5 days?

4. How long will a bushel of potatoes last if
8 quarts are used each day?

5. What cost 24 quarts of oil at 12 cents a
gallon?

6. A girl has to ‘“practice” three-quarters
of an hour every day; twenty minutes in the
morning and the rest of the time at night.
How many minutes does she practice at night?

7. Make problems, using the following: % of
24; 63+7; 8x9; 100-36; 50— (6x3);
62+15+18; 9x6+3x8; 8x6); 7T2+8.

8. What will 2 quires of paper cost at the
rate of 2 sheets for a cent?

9. In a school of 36 .pupils 2 of the children
were girls. How many were boys?

10. At 30 cents a dozen what will 18 eggs
cost?

11. From 5 dozen bananas there were sold
32 bananas. What are the rest worth at 2
cents apiece ?






16 HILL'S LESSONS IN GEOMETRY.

HILL’S LESSONS IN GEOMETRY. For the Use of Beginners. By G. A. Hiui,
A.M., author of the Geometry for Beginners. Illustrated. 12mo. Cloth. 190 pages.

For introduction, 70 cents. Answers, in pamphlet form, can be had by teackers.

In France and Germany, says the President of Harvard Univer-
sity, they begin geometry at ten years of age, and in its right place,
namely, in connection with drawing. Geometry, pursued in the
proper way, ought to be introduced in grammar grades, and within
a few years it doubtless will be. The right method is known, and
is embodied, it is believed, in this book. The subject is presented
objectively and practically, instead of abstractly and theoretically.
The central purpose is intellectual training, — teaching by practice
how to think correctly and continuously, — but at the same time the
main facts and principles of geometry are taught, and also a great
deal of the most useful knowledge. The exercises, involving the use
of simple instruments and drawing to scale, are of great interest and
educational value.

GEOMETRY taught in this way is interesting, disciplinary
and practically valuable in a very high degree.

Gives real and living knowledge. Full of inspiration.

For giving to students who have never It is a delightful little work, and full of
studied geometry a real and living knowl- | inspiration. A teacher who gets the spirit
edge of the subject and a command of its | of that book into him cannot fail to teach
more important applications, I know of no | well. In the hands of the pupil I know of
book equal to this,—C. C. ROUNDS, Prin. | nothing that approaches it.— CorwIN F.
State Normal School, Plymouth, N.H. PALMER, Supt. of Schools, Dresden, Ohio.

HILL’S DRAWING CASE. Prepared expressly to accompany Hill's Lessons in Geome-
#ry, and containing, in a neat wooden box, a seven-inck rule with a scale of millimeters;
pencil compasses, with pencil and rubber; a #riangle; and a protractor. Retail price,
40 cents; for introduction, 30 cents.

A specimen copy of the Lessons in Geometry, with the Drawing Case, will be sent, post-
paid, to any teacher on receipt of $1.00. .

FRACTIONS. A Teachers’ Manual of Objective and Oral Work. By HELEN F. PAGE,
State Normal-Training School, Willimantic, Conn. 8vo. Boards. iv+ 47 pages.
Introduction price, 30 cents.

Pupils’ Edition. Containing over three hundred examples, illustrated with color- -
diagrams. 8vo. Boards. 52 pages. Introduction price, 30 cents.

PRIMARY NUMBER CARDS. Prepared by Miss ISABEL SHOVE, of the George
Putnam School, Boston. Printed on cardboard, and boxed in sets of 6o. Price,

25 cents.



Stickney’s Readers.

INTRODUCTORY TO CLASSICS FOR CHILDRER

Bv J. H. STICKNEY.

Anthor of “ Word by Word,” “ The Child’s Book of Language,” * Letters and
Lessons in Language,” etc.

A series of attractive, studied, and thoroughly tested reading-books.
combining, in an unusual degree, exceptional literary merit and marked

originality with the most rational and practical methods.

The books

are full of life throughout, and free from mechanical dulness.

A FIRST READER.
A SECOND READER.
A THIRD READER.
A FOURTH READER.
A FIFTH READER.

Introduction price, 24 cents.
Introduction price, 32 cents.

Introduction price, 40 cents.
Introduction price, 50 cents.

Introduction price, 6o cents.

Auxiliary Readers. — FIRST WEEKS AT SCHOOL.
THE CLASSIC PRIMER.

12 cents.
20 cents.

THE editor aimed at positive excellence, and not simply
to make a series so characterless that no one, however
unreasonable or ill-informed, could discover a feature defi-

nite enough to find fault with.

SELECTED OPINIONS.

Not an uninteresting line in them.

It gives me great pleasure to cordially and
heartily recommend the Stickney Readers.
There is not an uninteresting line in the
whole series. Everything is carefully se-
lected, The reading is adapted to children,
— FRANcIS W, PARKER, Prin. of Cook Co.
Normal School, Englewood, lll.

The plan of the series is right.

I like the plan of the books, the grada-
tion of work, the excellent illustrations,
and the clear type. They give evidence of
having been prepared by one who under-
stands the needs of the schools. — SARAH
L. ARNOLD, Supervisor of Primary Work,
Minneapolis.

The children uniformly interested.

One of their most striking merits, as wit-
nessed by their use in the schoolroom, is the
uniform interest manifested by children in
the well selected and well graded matter

which they contain. The author evidently
sympathized with child life and thought in
a manner which enabled her to furnish
attractive motives to the pupil in larger
measure than is furnished by any other
school readers with which I am familiar.
— HENRY D. HATCH, Prin. of Brainard
Grammar School, Chicago, lU.

A great improvement on the usual type
of readers.

I especially commend them for the fresh-
ness of the exercises, their adaptability to
the purposes intended, and the general t.gltm
which prevails throughout. I consider these
books a great improvement on the usual
type of books designed for school readers.
— GEORGE L. OSBORNE, Pyes. of State Nor-
mal School, Warrensburg, Mo.

A comprehensive description.

An excellent series. —S. T. DUTTON, Sups
of Schools. Brookline. Mass.



CYR'S CHILDREN'S SERIES OF READERS.

By ELLEN M. CYR,

Author of ‘Interstate Primers,” etc.

A complete series prepared expressly for the first and second

year by Miss Cyr.

These books are pervaded with the spirit of

child-life ; and all the best devices and methods are made use of to
render the first steps in reading easy, interesting, and judicious.

THE CHILDREN’S PRIMER.

Introduction price, 24 cents. Fully illustrated.

Sq. 1zmo. Cloth. 96 pages. Reading Slips. Introduction price, five cents per

envelope.
THE CHILDREN’S FIRST READER.

trated. Sq. 1zmo. Cloth. 101 pages.
THE CHILDREN’S SECOND READER.

trated. Sq. 1zmo. Cloth. pages.

Introduction price, 28 cents.

Fully illus-

Introduction price, cents. Fully illus-

The Children’s Primer is written especially for the children,

and, as one may say, wizk the children.

It contains more reading-

matter, in proportion to the number of new words, than any other

book in the market.

The sentences are short, childlike, and full of expression ; the
illustrations, not only artistic, but suggestive ; and the new words
are introduced so gradually and repeated so constantly that the
little ones are enabled to hold fast all they learn.

GHE Children’s Primer works.

It makes the Children

work; and it makes them enjoy working.

Both theoretically and practically correct.

It is a beautiful book. It is made on cor-
rect pedagogical principles. It must prove
a great success in the school-room. — Wwm.
A. MOWRY, Supt. of Schools, Salem, Mass.

It has no equal.

It has no equal that I have seen. The
author has done a good work in giving to
the schools a book in which the sentences
are taken from the child’s every-day vocabu-
lary.— GEORGE ]. LUCKEY, Supt. of Public
Instruction, Pittsburg, Pa.

An ideal book.

It is an ideal book for beginning work.
My little girl, just five, and still attending
the Kindergarten, has read the Primer
nearly through. — E. L. BRIGGS, Supt. of
Schools, Grand Haven, Mick.

Adopted at once.

We have been using two hundred and
fifty copies for a month. My course in
introducing it is the best indorsement I
can give.— CHARLES E. GORTON, Board
of Education, Yonkers, N.Y.

Admirably designed.

It is well gotten up, beautifully illus-
trated, and admirably calculated to please
and help the little ones in their early at-
tempts in learning to read. — J. N. BART-
LETT, Supt. of Schools, New Britain, Conn.

Entertaining and instructive.

I am much pleased with the book, and
shall secure it for use in my schools as soon
as possible. It is admirably adapted to the
beginner in reading, entertaining and in-
structive.—M. RACHEL WEBSTER, Swpt. of
Welck Training School, New Haven, Conn,



Graves’ New Graded Spelling-Book.

A COMPLETE COURSE IN SPELLING FOR SCHOOLS AND ACADEMIES. By
JosepH A. GRAVEs, Ph.D,, Principal of South School, Hartford, Conn. 12mo.
Boards. Complete : vi+ 154 pages ; for introduction, 25 cents ; allowance, 6 cents.
Part I.: vi+ 68 pages; for introduction, 15 cents; allowance, 4 cents. Part II.:
84 pages; for introduction, 15 cents ; allowance, 4 cents.

Some of the special features of this spelling-book are : —

1. The grading is easy enough and yet pupils advance constantly
in their ability to spell and to acquire new words. -

2. The dictation exercises are well selected and well adapted to
the tastes and understanding of pupils in different grades. Most
of the selections in the latter part of the book are literary gems and
deserve careful study and memorizing.

3. The lists of words are classified according to some easily
recognizable principles, either by their use, meaning, sound or
derivation.

4. Unusual words are carefully excluded. No word is found in
the book which should not be in the vocabulary of every educated
person. The first three parts include only words of most common
use, reaching the needs of children who are compelled to leave
school early.

5. The lists of Paronyms are carefully selected and include only
those in most common use. These are reserved until the later
parts of the book, as it is believed that children need considerable
maturity to understand the use of these lists.

6. The studies in formation and derivation are kept for the last
part of the book, as this is more closely allied to the work usually
done in high schools.

7. The separate exercises are usually brief enough to be used as
single lessons, a merit that is found in no other book, we believe.

THE reason why Graves' New Graded Spelling-Book 1s so
popular with teachers is plain enough. It is carefully
graded and easy to teach.

Teachers praise it. A most excellent book.
Welikeit much. Teachers speak in high It was used while I was superintendent
praise of it. Results are all we could ask. | of the New Haven schools, and I regard it
We commend the book.—A. J. PADELFORD, | as a most excellent book. —S. T. DUTTON,
Supt. Schools, Calais, Me. Supt. Schools, Brookline, Mass.

GINN & COMPANY'’S SPELLING BLANKS. 8vo. 24 pages. No.I. Narrow spacing.
Price, per dozen, 50 cents. No. II. Standard spacing. Price, per dozen, 42 cents.











